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UGC NET PAPER 2 NOVEMBER 21, 2021 SHIFT 1 LAW QUESTION PAPER

Topic:- 58LAW_A

1) According to Pound, law is:

(1) The statement of circumstances in which the public force will be brought to bear upon men through courts

(2) A social institution to satisfy social wants
(3) Aggregate of rules set by men as politically superior or sovereign, to men as politically subject
(4) A crystallized common sense of communities
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[Question ID = 4012][Question Description = Q01_Law_SHAAN_NOV21]
1.1

[Option ID = 15511]
2, 2

[Option ID = 15512]
3.3

[Option ID = 15513]
4, 4

[Option ID = 15514]
2) Which of the following is not correct in relation to rights in its various forms and its correlatives?

(1) Right (Strict sense)-Duty  (2) Liberty-No right
(3) Power-Liberty {4) Immunity - Disability

el 9 3 Wi - it s fafvs s s 335 wegsion & an y gd 38 27
(1) SR (FeR o1d o) - FHea (2) A - T AR TE
() s - =dua @)  3I9fE - s

[Question ID = 4013][Question Description = Q02_Law_SHAAN_NOV21]
1.1

[Option ID = 15515]
B2

[Option ID = 15516]
3.3

[Option ID = 15517]
4, 4

[Option ID = 15518]
3) The main purpose of corporation sole is:-

(1) To protect the property of the Government
(2) To make the property easily transferable
(3) To make the property easily inheritable

(4) To make continuity of an office
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[Question ID = 4014][Question Description = Q03_Law_SHAAN_NOV21]
1. 1 [Option ID = 15519]
2. 2 [Option ID = 15520]
3. 3 [Option ID = 15521]
4, 4 [Option ID = 15522]

4) “Every man has a property in his own person, he has right to preserve his property, that is, his life, liberty and estate”

------------ is said by:
(1) Bentham (2) Henry Main
(3) Locke (4) Laski
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[Question ID = 4015][Question Description = Q04_Law_SHAAN_NOV21]
R

[Option ID = 15523]
2. 2

[Option ID = 15524]
3 3

[Option ID = 15525]
4, 4

[Option ID = 15526]
5) Under the special powers of Rajya Sabha which of the following resolutions can originate only in Rajya Sabha.

(A) Resolution seeking removal of Yice President

(B) Any resolution seeking creation of one or more all India service
(C) Any resolution seeking legislation on state subject

(D) Introduction of money bills

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (A) and (C) only
(3) (D) and (B) only
(4) (A}, (B}, (C} only
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[Question ID = 4016][Question Description = Q05_Law_SHAAN_NOV21]
1. 1

[Option ID = 15527]
2.0

[Option ID = 15528]
3.3

[Option ID = 15529]
4, 4

[Option ID = 15530]

6) Vice President of India on expiry of his term:-

(1) Vacates his office

(2) Gets a mandatory extension of 2 months

(3) Continues to hold office until successor enters upon office
(4) Elects his successor before relinquishing office
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[Question ID = 4017][Question Description = Q06_Law_SHAAN_NOV21]
1. 1

[Option ID = 15531]
2. 2

[Option ID = 15532]
3.3

[Option ID = 15533]
4, 4

[Option ID = 15534]

7) State Emergency or President Rule under Article 356 can be imposed in a State by the President for a maximum period
of:-

(1) 3 years (2) 2 years extendable by 1 year
(3) 6 months (4) 1 year
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[Question ID = 4018][Question Description = Q07_Law_SHAAN_NOV21]
1.1
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[Dptiﬂn ID = 15535]
AL

[Option ID = 15536]
3 3

[Option ID = 15537]
4. 4

[Option ID = 15538)]

8) Besides providing for a functional government and consequential growth in the administrative process, the Constitution
has provided elaborate control mechanism so that water may not over-run beyond banks. This has been ensured in which of
the following articles of the Constitution?

(1)  Art 32,226,227 (2)  Art 14,21, and 41

(3)  Art 15,16 and 17 (4)  Art 246, 247, 248
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[Question ID = 4019][Question Description = Q08_Law_SHAAN_NOV21]
1. 1

[Option ID = 15539]
2. 2

[Option ID = 15540]
3, 3

[Option ID = 15541]
4. 4

[Option ID = 15542]
9) Which of the following groups of Jurists who consider the law as a command of sovereign enforced by a superior political
authority and accordingly subscribe to the view that International Law is not law as ‘properly so called’?

(1) Starke, Salmond, Holland (2) Hart, Starke, Oppenheim
(3) Holland, Oppenheim, Hart (4) Hobbes, Pufendorf, Austin
Frefanaa e fatiam oqg 3 7= foow B & T8 7oy = oew 2 S aits oeafos iasr ga o
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[Question ID = 4020][Question Description = Q09_Law_SHAAN_NOV21]
1. 1
[Option ID = 15543]
2. 2
[Option ID = 15544]
3.3

[Option ID = 15545]
4. 4

[Option ID = 15546]
10) Which one of the following Geneva conventions has the provisions on, “The protection of the victims of maritime
warfare”?
(1) The Second Geneva Convention, 1949
(2) The Third Geneva Convention, 1949
(3) The Fourth Geneva Convention, 1949

(4) The First Geneva Convention, 1949
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[Question ID = 4021][Question Description = Q10_Law_SHAAN_NOV21]
1. 1

[Option ID = 15547]
i

[Option ID = 15548]
3 3

[Option ID = 15549]
4. 4

[Option ID = 15550]
11) The World Court refused to give its Advisory opinion in which of the following case?

(1) The Genocide Convention case
(2) The legality of the use by a State of Nuclear weapons in Armed conflict

(3) Interpretation of Peace Treaties case
(4) Legality of the Threat or use of Nuclear weapons case
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[Question ID = 4022][Question Description = Q11_Law_SHAAN_NOV21]
1. 1 [Option ID = 15551]
2. 2 [Option ID = 15552]
3. 3 [Option ID = 15553]
4. 4 [Option ID = 15554

12) Which of the following is not the principal organ of the United Nations?

(1) General Assembly

(2) Economic and Social Council

(3) International Court of Justice

(4) International Human Rights Commission
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[Question ID = 4023][Question Description = Q12_Law_SHAAN_NOV21]
1. 1 [Option ID = 15555]
2. 2 [Option ID = 15556]

3. 3 [Option ID = 15557
4. 4 [Option ID = 15558]

13) The distinctive features of ‘Rioting’ are an activity which is accompanised by :-
(1) Use of force and violence (2) Causing alarm

(3) Violence for a common purpose (4) Use of abusive language
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[Question ID = 4024][Question Description = Q13_Law_SHAAN_NOV21]
j it

[Option ID = 15559]
7.2

[Option ID = 15560]
3.3

[Option ID = 15561]
4, 4

[Option ID = 15562]

14) Which among the following is the most serious offence, and thus severely punishable?
(1) Unlawful Assembly (2) Rioting
(3) Affray (4) Assault
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[Question ID = 4025][Question Description = Q14_Law_SHAAN_NOV21]
1. 1

[Option ID = 15563]
3.2

[Option ID = 15564]
3.3

[Option ID = 15565]
4, 4

[Option ID = 15566]

15) ‘Stalking’ (following a women despite her disinterest, spying, etc) is an offence under:

(1) Section 354 (1)(ii) IPC (2) Section 354 B IPC
(3) Section 354 A (1) (iii) (4) Section354 D IPC

WA vs dfgal = Fefalas @ g@am % oo ot sen (Bedi =f = soeht ot % Tavg s
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(3) g™ 354 A (1) () (4) g 354 D
[Question ID = 4026][Question Description = Q15_Law_SHAAN_NOV21]
1. 1

[Option ID = 15567]
2. 2

[Option ID = 15568]
3.3

[Option ID = 15569]
4, 4

[Option ID = 15570]
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16) In which of the following cases the supreme court observed. “There is a thin line between the preparation for and an

attempt to commit an offence”?

(1) State of Maharashtra V Mohd.Yakul (2) Abhayanand Mishra V. State of Bihar
(3) Malkiat Singh V. State of Punjab (4) Om Parkesh V. State of Punjab
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[Question ID = 4027][Question Description = Q16_Law_SHAAN_NOV21]
1::1

[Option ID = 15571]
2, 2

[Option ID = 15572]
3.3

[Option ID = 15573]
4, 4

[Option ID = 15574]

17) Motor vehicle Amendment Act of 2019 refer to the earlier Motor vehicle Act of 1988 as:-
(1) Earlier Act (2) Old Act
(3) Adapted Act (4) Principal Act
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[Question ID = 4028][Question Description = Q17_Law_SHAAN_NOV21]
1. 1

[Option ID = 15575]
2. 2

[Option ID = 15576]
3, 3

[Option ID = 15577]
4. 4

[Option ID = 15578]

18) “The courts have created new torts by the gradual and sometimes almost imperceptible extension of old tort”, who
said the above statement?

(1) Professor Good hart (2) Sir Frederick Pollock
(3) Clerk and Lindsell (4) Salmond
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[Question ID = 4029][Question Description = Q18_Law_SHAAN_NOV21]
11

[Option ID = 15579]
2.2

[Option ID = 15580]
e

[Option ID = 15581]
4. 4

[Option ID = 15582)
19) Mental condition of a wrong doer at the time of wrong doing is:-
(1) Relevant in all torts

(2) Relevant is torts based on fault
(3) Relevant in tort based on strict liability
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(4) Not relevant at all
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[Question ID = 4030][Question Description = Q19_Law_SHAAN_NOV21]
1. 1 [Optien ID = 15583]
2. 2 [Optien ID = 15584]
3. 3 [Option ID = 15585]
4. 4 [Option ID = 15586]
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20) Section 53 of Consumer Protection Act of 2019 provides for establishment of National Consumer Disputes Redressal

Commission. It is to be known as:-

(1) National Commission

(2) Mational Council

(3) National Dispute Redressal Commission
(4) National Dispute Redressal Council
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[Question ID = 4031][Question Description = Q20_Law_SHAAN_NOV21]
1. 1 [Option ID = 15587
2. 2 [Optien ID = 15588]
3. 3 [Optien ID = 15589]
4. 4 [Option ID = 15590]

21) In a contract of Guarantee under the Indian Contract Act, 1872 there are:-

1) Two parties and two contracts (2) Three parties and three contracts
(3) Three parties and one contract (4) Two parties and one contract
T wiga sifafram, 1872 % siaia T i afde 4 Feafoiad mive 3
(1) & gerRR 3N 3 Hiaed (2)  dF IR 3R wlaend
(3) i uEERT 3R U G (49 v ST gl

[Question ID = 4032][Question Description = Q21_Law_SHAAN_NOV21]
1.1

[Option ID = 15591]
5.2

[Option ID = 15592]
3.3

[Option ID = 15593]
4, 4

[Option ID = 15594]
22) In case of unascertained goods, the property in goods passes:-

(1) When goods are ascertained

(2) When the parties intend the property in goods to pass
(3) As soon as the contract of sale is signed

(4) After the payment of goods is received by the seller
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[Question ID = 4033][Question Description = Q22_Law_SHAAN_NOV21]
. 1 [Option ID = 15595]
2 [Option ID = 15596]
3 [Option ID = 15597]
4 [Option ID = 15598]
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23) Where the money received from a third party by the firm, in ordinary course of business, is misapplied by one of the

partners to his own use, then:-

(1) Defaulting partner alone is liable for the same
(2) Third party has no remedy

(3) Firm is liable for the same

(4) Firm is not liable for the same
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[Question ID = 4034][Question Description = Q23_Law_SHAAN_NOV21]
1. 1 [Option ID = 155%%]
2. 2 [Option ID = 15600]
3. 3 [Option ID = 15601]
4. 4 [Option ID = 15602]

24) Who among the following can remove the name of company from Register of Companies on suo moto basis in terms of

Section 248(1) of Companies Act, 2013?

(1) Registrar of Companies

(2) Securities and exchange Board of India
(3) National Company Law Tribunal

(4) Ministry of Corporate Affair

FooR] AtafEm, 2013 $1 9/ 248(1) % TR FAkaRad 1 3 #1F W@d: T 6 AR T/ FRI 6 TR
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[Question ID = 4035][Question Description = Q24_Law_SHAAN_NOV21]
1 [Option ID = 15603]
2 [Option ID = 15604

1.

3 ]
3. 3 [Option ID = 15605]
4. 4 [Option ID = 15606]

25) Which one of the following is *‘NOT’ a primary source of Muslim Law?
(1) Sunnat (2) ljma
(3) Urf (4) Qivas
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[Question ID = 4036][Question Description = Q25_Law_SHAAN_NOV21]
1. 1

[Option ID = 15607]
7.3

[Option ID = 15608]
3.3

[Option ID = 15609]
4. 4

[Option ID = 15610]
26) Originally under the Hindu Marriage Act, 1955, divorce was based on:-
(1) Consent Theory
(2) Breakdown Theory

(3) Fault Theory
(4) Will Theory

fog foam wrfufam, 1955 % siavia faare-Ta=ds yem: Frarataa w smaia o
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[Question ID = 4037][Question Description = Q26_Law_SHAAN_NOV21]
1. 1 [Option ID = 15611]
2. 2 [Option ID = 15612]
3. 3 [Option ID = 15613]
4. 4 [Option ID = 15614]

27) Which of the following judgment does not deal with the need of enactment of ‘Uniform Civil Code’ in India?
(1) Mohd. Ahmad Khan V.Shah Bano Begum
(2) Ashok Hurra V. Rupa

(3) Sarla Mudgal V. Union of India
(4) John Vallamatton V. Union of India

Frarfefiga 44 am w Fofa a0 “gwr Trrfes g@fEen’ sae e ) e FuEa U aE R -
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[Question ID = 4038][Question Description = Q27_Law_SHAAN_NOV21]
|

[Option ID = 15615]
2, 2
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[Option 1D = 15616]
3. 3

[Option ID = 15617]
4, 4

[Option ID = 15618]

28) Which of the following judgment do not deal with the matter of Live-in relationship?

(1) Indra Sarma V. K.V, Sarma

(2) Sharda V. Dharmpal

(3) S. Khushboo V, Kanniammal

(4) Chanmuniya V. Chanmuniya Kumar Singh

Trafafiaa 18 %0 w Fofa foe g3 ey’ & fawa ¥ adi 27
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[Question ID = 4039][Question Description = Q28_Law_SHAAN_NOV21]
1. 1 [Option ID = 15619]
2. 2 [Option ID = 15620]
3. 3 [Option ID = 15621]
4, 4 [Option ID = 15622)

29) The Supreme Court of India recognised the significance of Inter-generational equity and held a government
department’s approval to establish forest based Industry to be invalid in one of the following case;-

(1) State of Himachal Pradesh VY. Ganesh Wood products
(2) Vellore citizen’s forum V. Union of India

(3) Dr. B.L. Wadehra V Union of India

(4) M.C, Metha V Union of India

faeforfiaa § 3 Topa S 4 9RE o IseIaH =Aarer § FAR- T Aerd o Heed o) iR R 3 g Ao
ferm & wfama werrd fsm =19 snenfia 2w wenfia =@ 1 s sifaftmr= @ smom?
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[Question ID = 4040][Question Description = Q29 _Law_SHAAN_NOV21]
. 1 [Option ID = 15623]
2 [Option ID = 15624]
. 3 [Option ID = 15625]
. 4 [Option ID = 15626]

o e =

30) The preamble to both Environment {(Protection) Act and Air (Prevention and Control of Pollution) Act were passed to
implement the decision reached in one of the following:-

(1) San Francisco Conference, 1945

(2) United Nations Conference on Environment and Development, 1992
(3) United Nations Conference on the Human Environment, 1972

(4) United Nations Conference on Environment, 1982

wafern (wiem) siftrem qun arg (wgwn fern v ) sfafam 6 v @ Fefafea ol
FeTaEd ST g wiid Tora 1w ;
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[Question ID = 4041][Question Description = Q30_Law_SHAAN_NOV21]

oWk b2 o

. 1 [Option ID = 15627]
. 2 [Option ID = 15628]
. 3 [Option ID = 15629]
4 [Option ID = 15630]
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31) The Government of India’s policy on abatement of pollution adopted certain guiding principles in the year 1992. Which
of the following is not covered under the said guiding principles?

(1) Prevention of pollution at source

(2) Adoption of best available technology
(3) Involvement of NGO’s for all purposes
(4) Public participation in decision making

AT FERR o1 Wg9l | IuvmA gl Hifd % araria av 1992 § wfow wniesli faga sufiea fore mu o) wim
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[Question ID = 4042][Question Description = Q31_Law_SHAAN_NOV21]
1. 1 [Option ID = 15631]
2. 2 [Option ID = 15632]
3. 3 [Option ID = 15633]
4. 4 [Option ID = 15634)

32) Which one of the following is not the functions of Human Rights Council?

(1) To promote Human Rights education and learning as well as advisory services
(2) To decide issues without making any recommendations to the General Assembly
(3) To work in close cooperation with the Government regional organisation, National Human rights institutions and civil

society

(4) To serve as forum for dialogue on thematic issues on all Human rights

frferfaa B8 = o %l aeaitesr ufeg %1 a8 27

(L
2
(3)
(4
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[Question ID = 4043][Question Description = Q32_Law_SHAAN_NOV21]
1. 1 [Option ID = 15635]
2. 2 [Optien ID = 15636]
3. 3 [Optien ID = 15637]
4. 4 [Option ID = 15638]

33) ‘Digital signature’ is defined under which section of information technology Act, 20007

(1)
(2)
(3)
(4)

Section 2 (p)
Section 2 (q)
Section 2 (r}

Section 2 (th)

e v sl annn =B Bon o 1 B orereay” =0 vefrerirs ot o 22
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(4) T2 (th)

[Question ID = 4044][Question Description = Q33_Law_SHAAN_NOV21]

1.1

[Option ID = 15639]
2,2

[Option ID = 15640]
3.3

[Option 1D = 15641]
4. 4

[Option ID = 15642]

34) ‘Cyber security’ is defined under which section of information technology Act, 20007

(1)
(2)
(3)
(4)

[Question ID = 4045][Question Description = Q34_Law_SHAAN_NOV21]

‘gRAt g, g SenfieEh sfufaam 2000 9 fre g § wienfie 27

(L
(2
(3

(4)

|

[Option ID = 15643]
i

Section 2 (ua)
Section 2 (za)
Section 2 (nb)
Section 2 (th)

1 2 (ua)
T 2 (za)
91 2 (nb)

H1 2 (tb)

[Option ID = 15644]
3 3

[Option ID = 15645]
4. 4

[Option ID = 15646]

35) The term private key refers to:-

(1) Authentication of any electronic record by a subscriber
(2) Electronic signature certificate issued under section 35
(3) Key pair in an asymmetric crypto system

(4) Key of key pair used to create a digital signature

“fFaTa el BEnaeE 2

(1)  Tereht mvgen R setagieR et w1 stforrmmom

(2) AW 35 % i I sEI-oR ST & T -ug
(3)  remfid g yorreh § gl

@) SR TR TEA % e e Fefi-gm 6 gsh
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[Question ID = 4046][Question Description = Q35_Law_SHAAN_NOV21]
1. 1 [Option ID = 15647]
2. 2 [Option ID = 15648]
3. 3 [Option ID = 15649]
4. 4 [Option ID = 15650]

prepp
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36) The validity of contracts formed through electronic means is contained under which section of information technology

Act, 20007
(1) Section 3A (2) Section 6A
(3) Section 7A (4) Section 10A

goig2it=e AreEl g <R 7 wfee, gu Nenfieh sAfafm, 2000 fem g A afia .-

(1) 49/ 3A (2) 9W6A

(3) HW7A (4)  uW 10A

[Question ID = 4047][Question Description = Q36_Law_SHAAN_NOV21]
1.

[Option ID = 15651]
7.2

[Option ID = 15652]
3.3

[Option ID = 15653]
4. 4

[Option ID = 15654]

37) The right to information Act, 2005 explains the meaning of information under:-
(1) Section 2 (g) (2) Section 2 (f)
(3) Section 2 (g) (4) Section 2 (h)

A1 1 SATEHR AN, 2005, A ARG 0 2 2 -

(1 "2 @ a2
(3) HTR2(® (49 =02

[Question ID = 4048][Question Description = Q37_Law_SHAAN_NOV21]
1. 1

[Option ID = 15655]
2. 2

[Option ID = 15656]
Fiid

[Option ID = 15657]
4, 4

[Option ID = 15658]

38) The Lokpal and Lokayukta Act 2013 came in to force in:-

(1) March 2013 (2) February 2013
(3) January 2013 (4) August 2013
AIRITA TR SRR ATIEH, 2013 TIA FN T
(1) W=2013H 2 w@i2013H
(8) SHad 2013 % (4 PG 2013 0

[Question ID = 4049][Question Description = Q38_Law_SHAAN_NOV21]
1. 1

[Option ID = 15659]
2. 2
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[Option ID = 15660]
Fui

[Option ID = 15661]
4, 4

[Option ID = 15662]

39) Which one of the following is related to Amendment of the U.S. constitution?
(1) Article Il (2) Article IV
(3) Article V¥ (4) Article VI

Frrfafas Sg=a<i 0 ¥ iR W s=de iR & Ufaam & weiya F weiaa 87

(1) AFR_TIII (2) AT IV
@ FFHV 4 W= VI

[Question ID = 4050][Question Description = Q39_Law_SHAAN_NOV21]
1. 1

[Option ID = 15663]
1)

[Option ID = 15664]
3,53

[Option ID = 15665]
4, 4

[Option ID = 15666]

40) Section 8(1) of the RTI Act provides how many exemptions from the disclosure of information?
(1) 7 (2) 8
(3) 9 (4) 10

T 8(1) Ga1 1 ST HAfafrm ga & TR 8 foham TR & T2 &l Ta9H 31 87

1 7 (2 8

(3) 9 (4) 10
[Question ID = 4051][Question Description = Q40_Law_SHAAN_NOV21]
1. 1

[Option ID = 15667]
2i2

[Option ID = 15668]
3.3

[Option ID = 15669]
4. 4

[Option ID = 15670]

41) According to prof, Lon L Fullar:-
(A) Law is the enterprise of subjecting human conduct to the governance of rules

(B) The morality of law has two aspects, external and internal

prepp
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(C) External morality is the morality of aspiration, ideas from which it is possible to derive a procedural version of

natural law

(D) Internal morality of law is a ‘substantive version of natural law’

Choose the correct answer from the options given below:
(1) (A) and (B) only

(2) (B),(C) and (D) only

(3) (A}, (C} and (D) only

(4) (A),(B) and (C) only
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Wl TH U Gool oh SIFHN ;

(&) Tt o= & wyaer %) a6 e < i F o 3Em )

®  Tafue Al 6 2 ve B € - a5 SR AR

(C) ‘R Afaswal 39 SuanaAl, sweyn i Aiawa 2 e yieride fafa = sirarars v’ wrfia s da
21 21

D) Tata i wafes Afawn’ T At wyEEu )

7 fou e faeReai U U ud I 1 99 S

(1) e (A) SR (B)

@ ¥ (B), (C) D)
3  F(A). (O 3 (D)
@ ¥ (), (B) F(C)

[Question ID = 4052][Question Description = Q41_Law_SHAAN_NOV21]
1. 1

[Option ID = 15671]
2. 2

[Option ID = 15672]
Fiid

[Option ID = 15673]
4, 4

[Option ID = 15674]
42) In which of the following cases the duties are not specifically enforced in respect of the act done?
(A) The liability of a borrower to repay a debt barred by statute of limitation
(B) The liability of a borrower to repay the money borrowed by him
(C) To refrain the wrong doer from publication when a libel has already been published

(D) To refrain the wrong doer to continue the commission of a huisance

Choose the correct answer from the options given below;
(1) (A) and (B) only
(2) (A) and (C) only
(3) (B) and (C) only
(4) (BY and (D) enly

frmaferiaa = @ form Wi A aeiea ol fore ma anred o date W faftre w9 @ e = foran s 27

(A ufedim wfat gro afsa w0 & qEiTaR w0 A 3o 6 e
@) Tt 3uweal A Feek g 3un fa e o7 w1 gRsran w9 6 e
(C)  Torelt faeers & 2USH o avS Terd e o STed Rl SRTeH 8 B T

(D) T wera R = aTel safaa 1 Soara ST TEA | T A

i1 fou 1o faemedt d @ it 39¢ o =3 fifde .

(1)  =ad (&) AR (B)



www.prepp.in . repp

Your Personal Exams Guide

(2  wad (4) H(C)
(3) Fad (B) 3R (C)
@ ¥ (B) I D)

[Question ID = 4053][Question Description = Q42_Law_SHAAN_NOV21]
11

[Option ID = 15675]
2. 2

[Option ID = 15676]
3.3

[Option ID = 15677]
4, 4

[Option ID = 15678]
43) Which of the following statements are correct?

(A) Global justice inquires about what justice among human beings consists in.

(B) Global justice inquiries take individual human beings as of primary concern and seek to give an account of what fairness
among such agents involves.

(C) In the domain of global justice, theorists seek primarily to define justice between states or nations.

(D) In international justice the nation or state is taken as the central entity of concern and justice among nations or states is
the focus.

Choose the correct answer from the options given below:;

(1) (A),(B) and (C) only

(2) (A},(B) and (D) only

(3) (A),(C) and (D) only

(4)  (B), (C) and (D) only
fefafiga 44 SR-8 g g 87

(A) Y = 39 UEe] 1 S A1 3 ok A o o ford SRR SRl = - e WisEg 71

(B)  afvas =g % & vhige § wafiers fen % w9 0 safa 1 w@n st 2 o1 3w oard 1S g 2
T form werm 3 38 =g we |

(C) ST % &3 % 3iaia, fagaem muthes &9 9 Wi & <= =g st ienfya w@ 37

(D)  FHaua = 4 aeg = e faear o v % w9 1 o snan 2 W Wl & e e woa T
SicEd|

+fra feu o faswegi d @ w S w=m fifsa

(1) & (A). B) I (C)
(2 ¥ (A), B A D)
(3 (A, (C) I (D)
(4) % (B), (C) (D)

[Question ID = 4054][Question Description = Q43_Law_SHAAN_NOV21]
1. 1

[Option ID = 15679]
2. 2

[Option ID = 15680]
303

[Option ID = 15681]
4, 4

[Option ID = 15682]
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44) Which of the following statements are correct?

(A) The Preamble contains in nutshell ideals and aspirations of the Constitution

(B) The Preamble is the key to open the minds of the Constitution makers

(C) The Preamble to the Constitution of India is solemnly resolved to secure to its citizens justice and equity
(D) The Preamble is not the part of the Constitution

Choose the correct answer from the options given below:
(1) (A) and (B) only
(2) (C) and (D) only
(3) (A) and (C) only
(4) (A) and (B) only

fopatorfias WO ol om0 =A L o

(A)  REH G & AE AR TEearh S F1 R 2|
B) =i afaum Fmiaed & omaues O ges 6 5l B
(C) v % wiquns it 32 sraa wifienl #t = it ey 39arsy e & fore gedesa )

(D) i aRaE 9 =@ 2

T faa e T § @ Wl I = Al

1) Faa (A) 3R (B)
@ %3 (C) 3 (D)
(3) A (A) IAR(C)

4)  FaA (A) 3R (B)

[Question ID = 4055][Question Description = Q44_Law_SHAAN_NOV21]
1.1

[Option ID = 15683]
2. 2

[Option ID = 15684]
3.3

[Option ID = 15685]
4, 4

[Option ID = 15686]

45) Which of the following statements are true under the Constitution of India?

(A) Article 61 deals with procedure for impeachment of the President

(B) Art 142 provides that law declared by the supreme court shall be biding on all courts
(C) Article 122 provides that courts shall not inquire into proceedings of Parliament

(D) Art 163 deals with the extent of executive power of State

Choose the correct answer from the options given below:

(1) (A),(B) and (C) only

(2) (B) and (C) only

(3) (A) and (C) only

(4) (A),(C) and (D) only

T of AT Sdid T2 e[ & =89 9
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(A) =8 61 AT THSIEAR STt il Ui & Faiierd 2
(B)  =a% 142 Ivaaq ArTerd R I ToH =6 vl =Iened! T AT 29 1 Uaiad 21
(C)  oTI=uR 122 STl 310 U9e i e i s 3 Foru s | geiia 3

(D) =A% 163 T5A ) Frfarfers wifd i dm @ wefyg 2)

A=l feu T Tl 1 8 Ad I #1199 I

1)  w&a (4), (B) 3 (C)
(2) e (B) 3R (C)
(3)  waw (A) R (C)

(4)  HEA (A), (C) JD)

[Question ID = 4056][Question Description = Q45_Law_SHAAN_NOV21]

1. 1

[Option ID = 15687]

Lk

[Option ID = 15688]

Fui 3

[Option ID = 15689]

4, 4

[Option ID = 15690]

46) Which of the following statement/statements is/are correct?

(A) When a State is defeated or conquered, all the citizens acquire the Nationality of the conquering State. This is called
‘cession’ mode of gain of nationality.

(B) When a person gets Nationality of a State in place of the Nationality of another State. This is called ‘substitution’ mode
of loss of nationality,

(C) The Public Trustee case is related to statelessness.

(D) The General Assembly decided to convene a conference to conclude, a convention on reduction of statelessness in
1961.

Choose the most appropriate answer from the options given below:

(1)
(2)
(3)
(4)

(B) and (C) only

(A}, (B}, (C) only

(A), (C), (D) only
(&), (B), (C), (D) only

frfafas 048 s o1 /aR 8 e wd &7
(A) W FiE 29 qUlSE 31 e 2 g fosefl s o S ® A 3Ees uft iRl w8 fasmn 2w
SITiehct ST 21 S 21 38 wsdiadr g FE 1 SIfcadiaaT W9y’ %71 ST 2

(B) 19 TS T U U ) TSTAT o T IR 31 T <1 UREATa 9Ted S @ 1 38w g
yfereentim ey’ a1 SiEr 2|

(C)  ‘“ufscter 22 Hroen Treedi=an 4 wafoa 2
(D) wErEd A Ugdmal § Ffl Geidfi srfaame = aae 3g 1961 1 & sifiemy s @ s ol
feram

P i SN o S o oA e o — el
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D
2
(3
)

Fe (B) 3 (C)

&5 (A). B), (C)
3 (A). (C), (D)
%l (4), B). (C). @)

[Question ID = 4057][Question Description = Q46_Law_SHAAN_NOV21]

1.1

[Option ID = 15691]
Lok

[Option ID = 15692]
3 3

[Option ID = 15693]
4, 4

[Option ID = 15694]

47} Which of the following statement/statements, is/are correct?

(A) De Jure Recognition is final whereas De-facto Recognition is provisional

(B) De-Facto Recognition can be withdrawn but De-Jure Recognition is irrevocable

(C) De-Facto Recognition has retrospective operation as exactly as, in the case of De-Jure recognition
(D) There is no distinction between De-Jure and de Facto recognition for the purpose of giving effects to the internal acts
of the recognised authority

Choose the most appropriate answer from the options given below:
(A), (B}, (D} only

(B), (€), (D) only

(A}, (B}, (C) only

(A}, (B), (C) and (D)

Frafafea 44 R @ Fem w37

(1)
(2)
(3)
(4)

(&)
(B)
©
(D)

farferat: mrearen sifom S1l B sraifen srega: Wi s fam St 2)
TG WIS i T Toran S wekan § Srafen fafer: wr=ran = anit 38 forn s wera 21
TR W S T e T W1 el e ¥ aw a5

T YT UTERTG & SATafe i 1 uwraeiiad & 32w 3 faftm: v awga: w4 FE
T 2

et o o fopedl 4 @ wa@ SuEd SOt 1 9 A ;

(D
2
(3
(4

Fad (A). (B), D)
Fael (B), (C), (D)
% (A), (B), (C)
A), (B), (C) 3 (D)

[Question ID = 4058][Question Description = Q47_Law_SHAAN_NOV21]

1.1

[Option ID = 15695]
2. 2

[Option ID = 15696]
3, 3

[Option ID = 15697]
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[Option ID = 15698]

48) Which of the following statement/statements is/are correct?
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(A) On 16th June, 1987 the foreign secretaries of South Asian Regional Countries entered into agreement on Extradition
(B) Hongkong Pact on Extradition with India was entered in the middle of June 1980
(C) India and Germany signed an Extradition Treaty on 27 June, 2001

(D) India and France signed an Extradition Treaty on 24 June, 2002

Choose the most appropriate answer from the options given below:

(1)
(2)
(3)
(4)

(A), (B), (D) only
(B), (C), (D) only
(A), (€} only

(A}, (B), (C) and (D)

frafafEa 8 wdfi e w T

(&)

B

©

D)

16 [, 1987 i geqor Tfrang &= 2371 3 Tqew wiaai A e e wmeita W Feaen fFa)
HRE 3 Y12 T o Feief} SR YR WS, 1980 % Heal H gR0E g4
I a1 SHA 9 27 S, 2001 = YedTdor 94 o giaier feu)

TRE 91 E1 A 24 S, 2002 Tl Tedo1 G R Fner R

Hra fou o foemedl O 8 gad I9gEd IR T 999 il

(D

(2)

(3

@

FId (A), (B), (D)
¥ (B). (C), D)
Fad (A). (C)

(A). B). (C) 3 (D)

[Question ID = 4059][Question Description = Q48_Law_SHAAN_NOV21]
Te 5

[Option ID = 15699]
2, 2

[Option ID = 15700]
3.3

[Option ID = 15701]
4, 4

[Option ID = 15702]

49) Which of the following statement/statements is/are correct?

(A) The offence of abetment is defined under section 107 of IPC

(B) The essential ingredient of “the offence of conspiracy is the agreement to commit an offence
(C) The punishment of criminal conspiracy is given under section 120 IPC

(D) State of Tamil Nadu through Superintendent of Police, CBI/SIT V. Nalini is a case related to offence of Abetment

(E) Abetment in India of offences committed outside of India is punishable under section 108A IPC

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A}, (B), (C), (D) and (E)
(B), (D), (E} only

(A), (B), (E) only

(B}, (C) only
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frtafian e /Faai 3 98 A -

(A) ORI AYUH T IR gue Hfedr =Rl a1 107 H Rkt feran o B)
®) Tt srawm ) wiia s o RO TS o 319 W A o B

(C) s goe wfEe 1 awn 120 3 SFaia SR v w1 gve fenmn 2)

@)  gfer HA=iegen, H < s/ ww AR A & e A AT TS T A = U 19 % gERe
wefad 21

(E) R % SITet TR 10 190 o1 TR 1 gl ST 2Ue Hiee 1 €I/ 108 U 3194 gvehd g

91 fae e fasedi 6 @ ud 3w = il

1) @.®)(C). D) (E)
2  %ad (B). (D). B)

3 %A (@A), B). )

@ %= B), (C)

[Question ID = 4060][Question Description = Q49_Law_SHAAN_NOV21]
1. 1

[Option ID = 15703]
2. 2

[Option ID = 15704]
3 3

[Option ID = 15705]
4, 4

[Option ID = 15706]
50) Which of the following statement/statements are correct?

(A) ‘Theft’ is defined under section 378 IPC, as the dishonest removal of movable property out of the possession of any
person without his consent

(B) In the offence of extortion punishment is upto 3 years under section 384 |IPC

(C) The offence of ‘Robbery’ is defined under section 391 IPC

(D) Dacoity is Robbery committed by five or more persons

(E) The punishment for ‘Dacoity’ is prescribed under section 392 IPC

Choose the correct answer from the options given below:
(1) (A), (B), (C), (D) only

(2) (A), (B), (D) only

(3) (D), (E) only

(4) (A}, (B} only

freferfied sh= /ora=i 4ot wragA =

A 3 @ W fi e 378 % aa T F TR sfd A veafi o s @ 3as e At 9w
T o SATHR 3 B T qReIfE for g

(B)  3%EMAF AL H AR NH 6 910 384 % FH7 3 9 aw F1 70 27

(C) ‘T & stqua e swddiet 1 | 391 o e afenfya fmw w2

(D) ‘THAl o= I 368 it i gu ) TE e )

(E) ‘=’ Fgve o i € R ar 392 % wdfF fafga R

I feu mu famedi 0 4 Tl 39 & =[ i .
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(1)  FEQA). B). (€). D)
2 % (A, (B), (D)

(3) ¥ (D). (E)

@  FH Q). B

[Question ID = 4061][Question Description = Q50_Law_SHAAN_NOV21]
1.1

[Option ID = 15707]
2. 2

[Option ID = 15708]
3.3

[Option ID = 15709]
4, 4

[Option ID = 15710]
51) Which of the following statement/statements is/are correct?

(A) The offence of ‘sedition’ is defined under section 124A of IPC

(B) The supreme court in Kedar Nath Singh V State of Bihar held that section 124A IPC is not unconstitutional
(C) State (N.C.T. of Delhi) V. Navjot Sandhu Afsan Guru is a case related to sedition

(D) Mohd, Arif V State of NCT of Delhi is also known as Mumbai Terror Attack case

(E) Waging or attempt to wage war or abetting waging of war against the Government of India is an offence under section
121 IPC.

Choose the correct answer from the options given below:
1) (A), (B), (C), (D} only

(2) (B), (€), (D), (E) only

(3)  (A), (B), (E}only

(4) (D), (E) only

ffaliag 13 o8 wom /Fu F1=T H

(A) TSER F AT = A6 9 W a0 124 ©F e gioniya e 2

(B) ==dd =rarerd 1 Fer e T wam faer osa v 8 we & o & o Y g 124 © stgdafie
i g

(©  TSE (T LA, AT fieeh) a9 ey Uy ST TTE USTEE | Heiia TTen 3
(D)  Tiemg WifeE 59 v € 3 fieeh uea =1 gud sraemandt guen’ wiwer oft ey S 2

(B) 9d &R & s Ja 3871 1 38 1 T8 6 91 T3 H g 78 9 € i 9w 121 & 4.
Y 3

1= feq o fomredi 6 @ A Swe 1 = fifsa

() 5 (A). (B), (), (D)
2 %= (B). (O). D), (B)
(3  F(4). B). E)

(4)  ad (D) 3N (E)

[Question ID = 4062][Question Description = Q51_Law_SHAAN_NOV21]
1. 1

[Option ID = 15711]
2. 2

[Option ID = 15712]
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[Option ID = 15713]
4, 4

[Option ID = 15714]
52) In determining relevant geographic market, competition commission shall keep in mind which of the following factors?

(A) Regulatory trade barriers and natural procurement policies

{B) Language and local specification requirement

(C) Consumer preference and regular supply and after sale service
(D) Transport and distribution factors

Choose the correct answer from the options given below:;
(1) (A}, (B), (C}only

(2) (A), (B), (D) only

(3) (D}, (C), (B) only

(4) (A}, (B), (C) and (D)

T dtmiferen s i 8, wfeeeai s Fofafeg 99 G wres =0 o @ -

@)  Tafams s sadty @ uda aftg Hfe

(B) a9 vs g fattde srevasan

(C) 3w amrrand o1 waq R den fofl I Aan
D)  9REE e faam gaud

A1 2 o fawegi § 1 v 3w 1 =[ i ;

D FE @A), B), ©
2 w=A A, (B), (D)
(3) el (D), (C), B)
@ (A, B),(C) IR D)

[Question ID = 4063][Question Description = Q52_Law_SHAAN_NOV21]
1. 1

[Option ID = 15715]
2. 2

[Option ID = 15716]
3.3

[Option ID = 15717]
4. 4

[Option ID = 15718]
53) Consumer, Mediation Cell has to hold which of the following documents?

(A) List of empanelled mediators

(B} List of all cases handled by the cell

() Records of all proceedings

(D) Information specified by regulations

Choose the correct answer from the options given below:
(1) (A) and (B) only

(2) (B) and (D) only

(3) (C) and (D) only
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[Question ID = 4064][Question Description = Q53_Law_SHAAN_NOV21]

1.1

@  Ueag meri A g

B)  weriss g fere e @l ArHeAT = g
(©  osfi e = arfieg

@) fafrm= g fafafEe s

1= feu u faereai O @ A 3w % =E Fifea
() =T Q) AR B)

2  Faa (B) 3R (D)

(3) %ad (0) (D)

@ (A ®), () A D)

(A}, (B), (C) and (D}

IR Ul vahies Ferfafea 48 9 O csaEst = g gy

[Option ID = 15719]

2. 2

[Option ID = 15720]

£

[Option ID = 15721]

4. 4

[Option ID = 15722]

54) Removal of members of Company Law Appellate Tribunal can be carried out in consultation by:-

(A) Central Government

(B) Chief Justice

(C) Chairperson of Appellate tribunal
(D) Auditor General

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A) FZAER

B eI

(C)  ardreim =i & sreae

(D)  WEerE gheE

I fou mu faesreyl 4 @ w8 3T 1 =9F i

i L%

(A) and (B) only
(A}, (B}, (C) only
(C) and (B) only

(A}, (B), (C) and (D)

st forfer sydvefia—amarfeo o weva = 99 o guasi A 2o snawd 2|

Dmper £ AN mAE STV
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2

(3

4

Fd (), (B), (O)
Fae (C) A (B)

Q). B), (C) JAR (D)

[Question ID = 4065][Question Description = Q54_Law_SHAAN_NOV21]

1.1

[Option ID = 15723]

L 2

[Option ID = 15724]

35

[Option ID = 15725]

4, 4

[Option ID = 15726]

55) Endorsement of Negotiable instrument followed by delivery

(A) Transfers the property in instrument to endorsee

(B) Transfers the right of further negotiation to the endorsee

(C) May exclude or restrict the right of further negotiation by endorsee
(D) May merely constitute the endorsee as an agent

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A) and (B) only
(C) and (D) only
(A), (B}, (C) only
(A}, (B), (C) and (D)
Rt fafea W Tt o 3ty goe
Q)  forga T uafy ysaifRd w1 Saiaia 3 2|
B) gt 1 ST 31 o TRl 1 TR stafta Yemraia 31 S 2 )
(C)  g3fehel gRT AR oyt % ifErER ) wuva a widstEa woesar 2
D)  T3ifHd F UBTHA FIA T hael AT a1 T 2, WA U Usl2 & &Y T YW 2
e fou mu faeredt d @ v 3u w9 il
() &= (A) I B)
(2) e (C) AN D)
(3) & (A), (B), (C)
@ @A) ®).(©IAD)

[Question ID = 4066][Question Description = Q55_Law_SHAAN_NOV21]

1. 1

[Option ID = 15727]

2. 2

[Option ID = 15728]

s

[Option ID = 15729]

4, 4
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[Option ID = 15730]

56) Under Muslim Law, divorce by common consent is known as:-

(A) Talag-e-Tafwid

(B} Khula

(C) Lian

(D)} Mubarat

Choose the correct answer from the options given below:

(1) (A), (B) and (D) only
(2} (B) and (D) only
(3} (C) and (D) only
(4) (A) and (B) only

witem fafty 36 sfavia o1 enfd & 3/ T ol 8 9w 2 :-

(A)  defer-u-diies

B g
© FEm
D) T
=1 fou o faaredi 4 8wl 3w =1 =@ hife

1)y A (A), (B), 3 (D)
2) FaE (B) S (D)
(3) g (C) 3 (D)

(9 A (Q) I (B)

[Question ID = 4067][Question Description = Q56_Law_SHAAN_NOV21]
1. 1 [Option ID = 15731]
2. 2 [Option ID = 15732]
3. 3 [Option ID = 15733]
4. 4 [Option ID = 15734]

57) Which of the following are fault grounds of divorce under the Hindu Marriage Act, 19557

(A) Desertion

(B} Cruelty

(C) Consent obtained by force or fraud

(D) Conversion to non Hindu religion

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2) (B), (C) and (D) only

(3) (A) and (C) only
{4) (A), (B) and (D) only

fog foare arfufram 1955 % siwia ffafaa 4 8 =1 A famr -f=ss % A9 smar (wee 1m8e) 2 -
A)  HAISH
(B) FH

(C)  =egde A1 FIeYVl &9 H T Fedfd
D) R-fog wmi=rw
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e fer 7o fomredi o B we@ 399 IR w1 =9 Sl

(1) e (A) 3R (B)
(2) % (B), (C) AR D)
(8) AT (A) 3 (C)
@  FEE (A). (B) D)

[Question ID = 4068][Question Description = Q57_Law_SHAAN_NOV21]
1. 1 [Option ID = 15735]
2. 2 [Option ID = 15736]
3. 3 [Option ID = 15737]
4. 4 [Opticn ID = 15738]

58) Under the provisions of the Hindu succession Act, 1956

(A) Son of a predeceased daughter is class | heir

(B) Widow of a predeceased son of a pre-deceased son is class Il heir
(C) Mother’s mother is class | heir

(D) Mother’s father is class Il heir

Choose the most appropriate answer from the options given below:
(1) (A), (B) and (C) only

(2) (A) and (D) only

(3) (B) and (D) only
(4) (B}, (C) and (D) only

g Tauiver AR, 1956 % Iuadl % 3w -

@)  Td g @ - S 2
B)  9Egd 7 & gdya g i faua ot -3 i oot 3)
(C) =1 hl Wit o -Uek =h) SRUfrl 21

D) A o -2 = IwuiteERd 2

12 fom o faeredi | @ v SugER 39w 99 A

1)  FEE (A) B) I
@ T (A) 3R (D)

3  FEd (B) (D)

(49  %dd (B), (C) 3 (D)

[Question ID = 4069][Question Description = Q58_Law_SHAAN_NOV21]
11

[Option ID = 15739]
2.2

[Option ID = 15740]
3 3

[Option ID = 15741]
4. 4

[Option ID = 15742)]
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59) The National Commission for Women shall perform some of the following functions:

(A) Shall fund litigations involving issues affecting a large body of women

(B) Shall provide, financial assistance to all those who are self employed

(C) Shall call for specific studies or investigation in to specific problems

(D) Shall impose punishment to those found involved in discrimination of women

(E) Shall investigate and examine all matters relating to the safeguards provided for women under the Constitution and
other laws

Choose the correct answer from the options given below:
(1) (A), (), (E} only
(2) (B), (D), (E} only
(3) (A), (B),(D) only
(4) (E), (A), (B} only

s ufgen sy wigen Frefalem st s e | .

(a) =2 ge b vaifaa ufgenati & geai & Yemedi o famaryor s
(B)  TE-USOTICT ot Taeim T JueTetl SR |

(C) o wmremati  fafdvee svermm svean s wim am)

(D)  TigeNal % wawTE F | foed e e SR i 2fuea F:am)

()  &fqum ae 31 SEEl % sAaia nieenali ) vew gend % e i gl M) &) 9= 9 39 qheu
HM |

<=t fw T Tl 3 4 Wl I 1 = SR ;

()  F34 (A). (O), (®)
@ ¥ (B), D). )
(3) I (A), B). D)
(4) %9 (B), (4), B)
[Question ID = 4070][Question Description = Q59_Law_SHAAN_NOV21]

1.1

[Option ID = 15743]
2, 2

[Option ID = 15744]
3.3

[Option ID = 15745]
4, 4

[Option ID = 15746]

60) Examine the relevancy of class action suit and choose the correct answer:-

(A) A class action would measurably assist in securing redress in Environmental cases

(B) Monetary recoveries from the tort feasors in environmental cases can only be obtained through a suit
(C) The writ procedure appears more suited than the class action procedure

(D) The most obvious use of class action is in the mass disasters of the sort that occurred in Bhopal

Choose the most appropriate answer from the options given below:

(1) (A), (B), (D) only
(2) (A}, (C), (D) only
(3) (B), (C), (D) only
(4} (A), (B), (C) only

“gyg-are’ i gErTan & ohie H SR e I



WWw.prepp.in . repp

Your Personal Exams Guide
(A)  ‘“ogg-are’ Wiy A % seE | 9o gEREe 2|

(B)  waferofra arredi | srospoaehol W et sl urs 9@ % Areaa 8@ 9y s a3

(©  ‘vgz-are’ & e T ufEn’ s aema wdfia 2 2

(D) ‘“vgg-are’ w1 waifien geoe 3wan S st S savaes snaen d gl vkl B
=t fera 7o fosredi o @ e g ot <A i

(1) & (A), B), (D)
2) = (A), (), (D)
(3 & (B), (C). (D)
@ F=4 @A), B), (C)

[Question ID = 4071][Question Description = Q60_Law_SHAAN_NOV21]
1. 1

[Option ID = 15747]
2. 2

[Option ID = 15748]
3 3

[Option ID = 15749]
4. 4
[Option ID = 15750]

61) The geographical indications are distinctive signs or indications which identify any goods as:

(A) Act of unfair competition under Paris convention, 1967
(B) Originating in a specified territory

(C) Stipulate the misleading test guaranteeing a negative right
(D) Specific quality, reputation and characteristics

(E) Essentially attributable to origin

Choose the correct answer from the options given below:

(1) (A), (B), (C) only
(2) (C), (D), (E) only
(3) (A), (D), (B) only
(4) (B), (D}, (E) only
T Wohaes fafre fagm sigar e @ N i amm fiogar @ 8 -

(&) U s, 1967 % raia s wfaefie s
B U fafre g3 9 s g
(© e AR 1 giivea 0 & foe ames weon = gfiaes)

@) Tafire o, wnfa i sem
(B) oy g = wafiq

72 T2e o foenedl | 9 9d IR o1 = e

(1) A A), B (©)
(2 &G4 (C), D). (B)
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(3 FA (A, D). B
@ ¥ (B), D). (B)

[Question ID = 4072][Question Description = Qé1_Law_SHAAN_NOV21]
1. 1

[Option ID = 15751]
7.2

[Option ID = 15752]
3.3

[Option ID = 15753]
4. 4

[Option ID = 15754]
62) Nothing in TRIPS agreement, 1995 shall derogate from the existing obligations prescribed under:

(A) Paris Convention, 1967

(B} Rome Convention, 1961

(C) Berne Convention, 1971

(D) Biodiversity Convention, 1992
(E) Integrated Circuit Treaty, 1989

Choose the correct answer from the options given below:

(1) (A}, (B), (C), (D) only
(2) (B), (C), (D), (E) only
(3) (A), (B), (C), (E) only
(4) (E}, (D), (C), (A) only

TRIPS Wiz, 1995 % - i TEery gdu= gifde &1 stageas 3¢ s, I =i 2 -

(a) YRa afwm, 19674

®  Um e, 1961 H

(© o A, 19711

(D) <= fafaua sy, 19921
(E)  whigd ufue wid, 19897

A= fEu e o 4 3wl 39 & =E i

(1) ¥ (A). B), ©). D)
(2 %= (B), (0), D), (B)
(3 6 (A), B). ©). B)
@ ¥ (E). D), ©). (&)

[Question ID = 4073][Question Description = Q62_Law_SHAAN_NOV21]
1. 1

[Option ID = 15755]
2.0

[Option ID = 15756]
3.3

[Option ID = 15757]
4, 4

[Option ID = 15758]

63) ‘Computer network’ means the inter connection of one or more computers of computer systems or communication
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devices through:-

(A) The use of satellite, microwave, terrestrial line, wire, wireless or other communication media

(B) A device or collection of devices including input and output support devices

(C) Any electronic, magnetic, optical and other high speed data processing device

(D) All input, out, processing, storage, computer software or communication facilities

(E) Terminal or a complex consisting of two or more interconnected computers or communication device

Choose the correct answer from the options given below:

(1) (B) and (C) only
(2) (D) and (C) only
(3) (E) and {B) only
(4) (A) and (E) only

KL ek o1 ATE 2 Weh A1 HA¥eh Sl S320a] e HHE 1 HoR Ad 3] e g srwaaaie -

(A) 3R, WIgHEE, AT, |, ST Sere 3 S qread] w1 S

(B) T I3 3199 I3 1 UE Forash 3Td T2 STR SIS WeTes Had withiord 1
(© 1 o, grashn, yEeiE SR o= e Tt @ ey yeenfia @ ard 96
(D) Wl 3TTIRYR, FTYE, THATHT, TR, PR AR A1 TR Floand

(B) =i svgen swrecran S Sl steren siite sheged 91 dem w9 srdaate =)

1=t feéu e faweai 9 8 wg 3= 1 =a7 $ifsu .

(1) %= (B) A (C)
(2)  Had (D) 3 (C)
(3) = (E) i (B)

(4) e (A) I (E)

[Question ID = 4074][Question Description = Q63_Law_SHAAN_NOV21]
11

[Option ID = 15759]
2. 2

[Option ID = 15760]
3 3

[Option ID = 15761]
4. 4

[Option ID = 15762)

64) Which of the following statements are correct?

(A) In Canada, the federation was not a voluntary union but was imposed by an Act

(B} In India, the Act of 1935 created autonomous units and forged them into a federation

(C) The American Union was formed by voluntary agreement among a number of sovereign states
(D) Indian constitution has been framed by the States and not by the people of India

Choose the correct answer from the options given below:-

(1) (A), (B) and (C) only
(2) (A), (B) and (D) only
(3) (A), (C) and (D) only
(4) (B}, (C) and (D) only

fyerferfiers o 9 ot o =1 999

(AY ATl § uftes wafSss gg 36 o it saferfa gra @ e an ani
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(B) AW, 1935 % sfui-rm I WrEw $Hr3al gerd 6l ad I Us ureed o wufea fea
(©) i YRR wgd | Ty Tl & e WS SR 3 g g foem
(D) YR |lAEH 1 TSI g ST S A R SR o il grl

A9 fou e el 0 9 o I o = fife

1) T (A). (B) I(©)
@)  F3@ (A). (B) (D)
(3) A (A). (C) FD)

(4)  =ad (B), (O) (D)

[Question ID = 4075][Question Description = Q64_Law_SHAAN_NOV21]
1. 1

[Option ID = 15763]
2. 2

[Option ID = 15764]
3.3

[Option ID = 15765]
4, 4
[Option ID = 15766]

65) Amendment in the American constitution may by proposed by:-

(A) Congress with a 2/3 majority in both the Houses of Representatives and the Senate
(B) Congress with a 3/4 majority in both the Houses of Representatives and the Senate
(C) Constitutional convention called by two third of State Legislatures

(D) Constitutional convention called by three fourth of State Legislatures

Choose the most appropriate answer from the options given below:

(1) (A) and (C) only
(2) (B) and (C) only
(3) (B) and (D) only
(4) (A) and (D) only

iR wfaum 1 guiem freafafias gro weanfaa e sn o 2 -
(&) TRy AT foisifess SR -z <1 =i 20 2/3 wgHd o |k
(B) TRy o1 foeRfew v fide 341 1 %ilW g0 8/4 ag0a & W
(© A faeE T lIgmmEei 310 JaTe e Ha a1Heh A g

(D) i =ers v faumdeE g g e it siivema g

= fau T forredi A A werd SwIa IR w9 Al

(1) =3 (A) IR (C)
2) A (B) 3 (C)

(3)  Fa (B) 3R (D)
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@  FEA Q) IAD)

[Question ID = 4076][Question Description = Q65_Law_SHAAN_NOV21]
1. 1

[Option ID = 15767]
3.2

[Option ID = 15768]
3.3

[Option ID = 15769]
4, 4

[Option ID = 15770]

66) Match List | with List 1l :

List | List Il
Books Jurists
{A} The Growth of the Law (1) H. Cairns
{B) The Theory of Legal Science {ll) Cardozo

{C) An Introduction to the Principles

] hn R
of Morals and Legislation () John Rawls

(D} The Law of Peoples (I¥) Jeremy Bentham

Choose the correct answer from the options given below:

(A) - (D, (B) - (), () - (), (D) -
(V)

(A)-qi, (®B) - (1), €} - (v), (0 -

(1)

@
3) :flk; (1), (8} - (I, (C) - (IV), (D) -
(A)- (I}, (B} - (), (€) - (I}, (D) -

(4) (V)

=i 1o e g I e Fifsm ;
= 1 (JETH) g 11 (Frferm)

(&) IWMIAETA @O T FEE
(B) 7 = AT ST Wisy an FRES
(C) T ea 2 2 Tiftues 217 Hites Ug wifaeieA dI) i T
(D) <o 3% fueg av)y <fafl sem
e fou o fasraredi 9w 39 o1 =97 il

O  A-@O. G -4, (© - d), O - av)
@ @W-am ®& -0 ©-dv. @O - Jo
3 @W@-0O. @G -dD, © - V). O - adH
@ @-. @® -dn ©-O @O -av

[Question ID = 4077][Question Description = Q66_Law_SHAAN_NOV21]
J

[Option ID = 15771]
2.3

[Option ID = 15772]
%3
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[Option ID = 15773]
4. 4

[Option ID = 15774]

67) Match List | with List Il ;
List 1 List Il

(I}  Chief Election Commissioner
shall act as the chairman of the
Election Commission

{A) Art 326 of the Constitution

(Il) Ban to interference by courts in

{B) Art 324 (3) of the Constitution
electoral matters

(Ill) Elections to be on the basis of

C) Art 328 of the Constituti
© r of the Lonstitution adult suffrage

(I¥) Power of Legislature of a State to
make provisions with respect to
elections to such Legislature

(D} Art 329 of the Constitution

Choose the correct answer from the options given below:

(Ay-(), (B) - V), (€} - ), (D) -

M
2) (A)- (), (B) - V), (C) - (), (D) -
(N
(Ay- (y, By - (I, (€) - (v), (D) -
(3)
(1)
(A)- (), (B) - (I, (€} - (I¥), (D) -
@
= Tk | g I a1 frerH shifsr
Al 1 gl 1L
(A) HfauR F1 3Tw8E 326 0 7= FafEs g, Fafa omm S w0 w5
4|

(B) dfaem &l 7582 324 (3)
(C) wfaar =1 Ag=ae 328
(D) HfEFH T A3 329

AD el g e ame d gme aoafdE)
(I1T) <&k HATERT o ST T AT AN S|
IV) T T=a & g & Fae & 999 1 TegE 5 6

36 U1 % Taumdes i wifaw
A= fau Mo faereredl 8w T = s il
1M @-a ®-av, © -O. @O - Jn
2 @A-adan ®-aw. ©-@O. O -d
B @-Jaan @®@-@O. (© -av. O - da
4 @AW-O @®-4adan (© -av, O - Jan

[Question ID = 4078][Question Description = Q67 _Law_SHAAN_NOV21]

1.1

[Option ID = 15775]
3.2

[Option ID = 15776]
3 3

[Option ID = 15777]
4. 4

[Option ID = 15778]

68) Match List | with List Il :
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List |

Conferences of W.T.O.

(A) Third Ministerial Conference of WTO was held

at

(B} Sixth Ministerial Conference of WTO was held

at

{C) Fourth Ministerial Conference of WTO was
held at

(D} Seventh Ministerial Conference of WTO was
held at

Choose the correct answer from the options given below:

(y  A-0, (B - (), (C) - (), (D) -

(V)
(A)- (I}, (@B) - (), ) - (v), (D) -
@y
(3) (A)- (I}, (B) - (¥), (C) - (), (D) -
()
(4) A)-0v), ® - any, () -, () - {)
= 1 W = I 1 et Fifer ;

List Il

Places where held

(I} Hong Kong (China)

(I} Seattle (US)

(Nl) Geneva
(Switzerland)

(IV} Doha (Qatar)

g 1 (35 3 wer) e 1T (STe S TR gh)
(A) Tocqg A A1 e A FeE g A @ BEm (FA)
B) Ty A N S T IEHE T g Al an fages (i)
(C) TR A & 1= wefieal v g o dIn e (feeseis)
D) Toeg A 0wl AR e e o avy < (FW)
et fou mo fameredl @ vl 3o 1 v Aife
1 @-O @®&-ad, (© -dan, O - Iy
(2) @-d. ®& -O. (© -av. O — Jdm
@ @W-Im ®»;-@™, ©-0O @O -Jdn
@ @-@™, ®B-dh ©-a, O -0

[Question ID = 4079][Question Description = Q68_Law_SHAAN_NOV21]

1.1

[Option ID = 15779]
3.2

[Option ID = 15780]
3 3

[Option ID = 15781]
4. 4

[Option ID = 15782)

69) Match List | with List Il :
List |
(Definitions of)
(A) Solitary confinement

(B} Act of a child under seven years
of age

(C) Communication made in good
faith

List Il
(Provisions of Indian Penal Code)

()] Section 95 IPC

(Il Section 93

(Il Section 73 IPC

prepp
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(D) Act causing slight harm (IV) Section 82 IPC

Choose the correct answer from the options given below;

(1) (A)- (), (B) - (IV), (C) - (), (D) - (D)

(A) - (D), (B) - (), () - (), (D) -
(I¥)

(3) A-@v), (B) -, (€ -y, (@) - )
(4) (A)-(), (B - ), (€ - @), (O -0

(2)

I 1o v A 11 o1 Taem Shifs
= 1 (ufeam) gl 11 (vt 2oe wigdn shl am)
(A) UHE 9wy O &g o5
(B) GEay 8 FH & dA1eTE F FA (D 9w 93
(C) wewd | fFw T EarE (D) uw 73, 36 i i
D) ik g IEEH 1 FA V) = 82, 31 i €
= fau e faereredi @ w3 o <A il
(1) @A -dD. B) — dV). (O — dD., D) — @D
2 @W-O @G -d. © - dJan). O - av)
3 HA-AV), B —d), (O — dm, @) — @
1) Q@ —-1D., @B — dIm, ©) - av)y, D) — O
[Question ID = 4080][Question Description = Q69_Law_SHAAN_NOV21]
1. 1
[Option ID = 15783]
2. 2
[Option ID = 15784)]
3, 3
[Option ID = 15785]
4, 4

[Option ID = 15786]

70) Match List | with List Il :

List | List Il
(A) Negligence () Ryland ¥V Fletcher
(B) Strict Liability (I  M.C. Mehta V Union of India

()
(D)

Absolute liability

Nervous shock

() Glasgow corporation vs Muir

(IV) Bourhill ¥ Young

Choose the correct answer from the options given below:

(1)
(2)
(3)

(4)

(A)-qiy, (B} - (),

(V)

(A) - (D), (B) - (I,
()

(A) - (I,  (B) - (),

(V)

(A) - (1N, (B) - (),

(I¥)

(€) - (m, (b)

(€} - (Iv), (D)

(€) -, (@)

€ - )y, (D)
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= 1% s g= 11 faem Sifse

g I

= feu mu fasmereal 8 udl 39 &1 =g+ hifsm .

1 @-adn. ® - @,
@ @W-0O @ - Jdb.
3y @-an. @& — @
@ @-dDn. B - db,

= 11
(D Tt a9M wel=y
(I) ©A.E. a1 o= 9rd ¥
(AIT) elresTl TR F-T8 IR
(V) sifea sam A

©) - dIp. D) - aAV)
<€ - av). @O - ap
©) — dn. @) — av)

(C} '_ (I}r

D) — V)

[Question ID = 4081][Question Description = Q70_Law_SHAAN_NOV21]

1.1

[Option ID = 15787]
1)

[Option ID = 15788)
3.3

[Option ID = 15789]
4. 4

[Option ID = 15790]

71) Match List | with List 1l :
List |

(A) Section 162 of the Indian
contract Act, 1872

(B} Section 178 of the Indian
contract Act 1872

{C) Section 214 of the India contract

Act, 1872

(D} Section 150 of the Indian
contract Act, 1872

List Il
() Pledge by Mercantile Agent
(I} Bailor’s duty to disclose faults in

goods bailed

(I} Termination of gratuitous
bailment by death

(I¥) Agent’s duty to communicate
with principal

Choose the correct answer from the options given below:

(A)- (),  (B) - (IV), (© - (W, (D) -
(1)
(N
@ W-m, ®-0  ©-Mm O -
()
3 W-av), @ - @, © -0 O -
)
(4) (A)-(), (B) - M, (C) - (IV), (D) -
Uy
T 13 =g ge=h T faem Hifsre
SRR .

(A) T gRE snfifem, 1872 6 9 162
(B) W™ gfaer snferfem, 1872 9w 178

=

M SR sthiysal g fir e
(D) Iufafea axgel 1 i Ferre % foe Iafam
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(C) wreta afger anferfem, 1872 e 214
(D) g wfae swferfaan, 1872 < 91 150

(IID) Yoy 3R 3 geek 3ufum =1 qurA
(V) ferer F wney {wor A < axfienat i 2

e o mu fasmareat & wel Sw T waq ik
1 W@-O 6 -av. ©) - Jadan, O - db
(2) @A-3ad. B -O. O -av. O - JdIp
@ @-awv, ®-4ad) O -O. O - dm
4 @-dn ®&-O © -adavm, O - db
[Question ID = 4082][Question Description = Q71_Law_SHAAN_NOV21]
1. 1
[Option ID = 15791]
7 0
[Option ID = 15792]
303
[Option ID = 15793]
4, 4

[Option ID = 15794]

72) Match List | with List Il :

List I List Il
(A) Sec.13 of C,P.C, () Foreign court
B) Sec.2(5) of C.P.C. IFII} Presumption as to foreign
judgements
(€) Sec. 2 (6) of C.P.C. igl:ml:'*:li'in foreign judgement not
(D) Sec.14 of C.P.C. (V) Judgement of a foreign court
Choose the correct answer from the options given below:
(1) (A) - (), (B) - (), (€} - (IV), (D) -
(1)
2) :ﬁ«]} (my, (8) - (1), (€} - (v), (D) -
(A) - (1), (B - (I, (€) - (y, (D) -
@ 4y
(4) (A)-(), (B) - @v), (€} -am, (()-1
UCIRER PRI IENETIEETELE
gl I =i 10
(A) AL F a3 (D Taeeh =
B #HdHd. Fam2(s) (ID)  faesft fofa = < 4 3uamon
() Hidig. Fram2(6) (D) Tt ol ws Freams w8 2m
(D) HHLHE. Fam 14 (Iv) Taesfi =rmene %1 ol
1= e 7o et 9 9 39 1 =g i
1 @-O ®B-4d) © -Jav). @O - Jdm
2 @-dn ®-@O. ©-av, O - d
3 @-dn BB -0 ©-4d) O - dJV)
@ @-am @®-a, © - an, @O -
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[Question ID = 4083][Question Description = Q72_Law_SHAAN_NOV21]

1. 1

[Option ID = 15795]
2, 2

[Option ID = 15796]
35

[Option ID = 15797]
4, 4

[Option ID = 15798]

73) Match List | with List Il :
List |

{A) National Human Rights Commission

(B) Mational Commission for Backward
Class

(C) MNational Commission for Minorities

(D) MNational Commission for Scheduled

Caste

List Il
(1) Article 338

() State to introduce
regulatory regime in the National
Interest

() Power to recommend
payment of compensation

(I¥) Article 338-B

Choose the correct answer from the options given below:

(A) - (1), (B) - (I, (€) - (m),
(V)

(2)  (A)- (), (B) - (v}, (C) - (W),
(3)  (A)-(v), (B - (), () - (),

(A) - (IV), (B) - (), (C) - (I},
(1

(1)

(4)

W= I3 W = 11 e i
= 1

(A)  TrETiER A

B T et s

(C) TS SETHET: ST

(D) usfi srggfea sufa s

e e o faeraredi § B SR & 99 i

(D) -
(D) -
(@) -
(D) -

gl II

@ w33 338
aAD <wTefEa A famramer e yonef wenfia son

am wivgfd 61 uf¥ i sy e S afEw
IV) sIg=de 338-+1

@  @-0m @G -add, (© -dn @O - adv
@ @A-dn. ® -3adv). O -ad. @O -0
@ @-avy. ® -adn © -dadp, O - D
@ @W-ov), GB-3ad. O©-0 @O - dj

[Question ID = 4084][Question Description = Q73_Law_SHAAN_NOV21]

1.1

[Option ID = 15799]
1)

[Option ID = 15800]
3 3

[Option ID = 15801]
4. 4

[Option ID = 15802]

74) Match List | with List 1l :
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List | (Definitions of) List Il (Provisions under Information Technology

Act, 2000)
(A} Computer (N Section 2 (g)
(B) Computer Network () Section 2 (k)
(C) Certifying Authority (lll} Section 2 (j)
(D} Computer Resource (I¥) Section 2 (i}
Choose the correct answer from the options given below:
(1) (A) - (D, (B) - (), (C) - (), (D) -
(V)
(A)-QI), (B) - (I}, €} - (v), (D) -
(2) (11y
(3) (A)-(I¥), (B) - (M, (<€) - @), (D) -
(1
(4) (A)-QI)y, (®B) - (v}, (€) - (), (D) - (O
g 1o wa I L ferm hifsa
& I (afeamm) T 1T (g Yl stftrfam, 2000 & w@9H)
(A) FYR D =92
(B) R e ) =2 &)
(C)  wamoreRal st (D) =W 2 G)
(D) FTHIEH IV) 9/ 2 (1)
e Tau e fosreted] | B 3T 1 =04 i ;

1 W-O ®& -4 (© -dn. @O - av
2 @A-d @®-@D. (© —-Jav. ) - dm
@ @A@-av. ® -dan ©-O. (@O -a
@ @-dh ®-av. ©-ad, O -0

[Question ID = 4085][Question Description = Q74 _Law_SHAAN_NOV21]
1. 1

[Option ID = 15803]
2. 2

[Option ID = 15804]
3.3

[Option ID = 15805]
4. 4

[Option ID = 15806]

75) Match List | with List Il ;
List | List Il

() Presidential Election Nov.7,

(A) Article-V¥ 2012

(Il Congress on the eve of

By Article - Ill
(B) Article Presidential Election

(€) Chapter -V (Ill}y The Judicial power in American
Supreme Court
(D) Chapter -1V (Iv) Amendment of the Constitutions
Choose the correct answer from the options given below:

(A) - (), (B) - (), (€} - V), (D) -

D
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(A) - (1), (B) - (M, (€} - (IV), (D) -
()

(3) A)-v), B -, (€) -, (D) -0
(4) (#)-m, (B - @), (€ - an, (D) -0

(2)

I 1w g 11 fierm shifere

gl I gl 11
(A =R -V @ IRER™a 9@, Nov 7, 2012
B) Hg=ae - III AD) wfEshiaa gaa f P w e
C) Fwm| -V (D) ST G| i | =Rk vfdd
D) HeE -1V (IV) Gfaem =1 g9iiEe
#19 fea e fawaredi 8 wdl 3% ot == <hifs

1 @W-O0O 6 -ad. © - dav). @O — d)
2 @-dp ®-O O -av. @O - Jdh
3¢ @W-av, & -dh © -an @O - @D
@ @-dan ®-av ©-3da O -0

[Question ID = 4086][Question Description = Q75_Law_SHAAN_NOV21]
< 0

[Option ID = 15807]
2. 2

[Option ID = 15808)]
3.3

[Option ID = 15809]
4. 4

[Option ID = 15810]
76) Arrange in chronological order the publication of the books on Jurisprudence:
(A) A Practical Treatise of Architectural Jurisprudence by James Elmes
(B) The Spirit of Common Law by Roscoe Pound
(C) World Poverty and Human Rights by Thomas Pogge
(D) Taking Rights Seriously by Ronald Dworkin
(E) The Growth of the Law by Benjamin N, Cardozo

Choose the correct answer from the options given below:

(1) (B}, (A), (C), (E), (D)
(2) (E), (B}, (A), (C), (D)
(3) (A), (B), (E), (D), (C)
(4) (B}, (A), (E), (C), (D)

faferemes ot fArAfoarRaa giaen &l 37ek YT & SRIeTERETgER SEfed #;

(A)  Srmuegy 3 e ‘o WfRda JeRS o snfdhiraw iwgea’
® R Teve 3 ud f e e s |t
()  uive 9 g tfaa aed uiadi vz agms Uz
D) TATee A 30 e i gem Hifeee
(E) sufhm v st g dfea oMy siteg o
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=t fea e foeredi 8 & w= IR 1 =g s

1) (B), A), ©), (E), (D)
@  (E), (B), &), ), D)
3  @.3B.E.0.O
@ B.A.6B.0.0

[Question ID = 4087][Question Description = Q76_Law_SHAAN_NOV21]
T

[Option ID = 15811]
.00

[Option ID = 15812]
3.3

[Option ID = 15813]
4. 4

[Option ID = 15814]
77) Chronologically arrange (Article wise) the following provisions of the Constitution of India:

(A) Special Provisions with respect to the State of Sikkim
(B) Special Provisions with respect to the State of Karnatka
(C) Special Provisions with respect to the State of Manipur
(D) Special Provisions with respect to the State of Nagaland

Choose the correct answer from the options given below:

(1) (C), (D), (A), (B)
(2) (B), (C), (B), (A)
(3) (D), (C), (A), (B)
(4) (C), (D), (B), (A}

T o gfagA % Frefafaa sreai «i Fwwn & sigan st #i
) fufam o daa 1 e 3wy
(B) =Tz usa & gaa d fagw 3uay
(C)  ATIgL U= % Hag | famy Iy

(D) APTRAE Ua & T4 9 o9y 39sy

A feu T fasedi 8§ O 9 39 = Fhife

1 ©). D). &), B
@ (D), (©), B), (4)
3 DO &), B
@ (©). D). ®B). A

[Question ID = 4088][Question Description = Q77 _Law_SHAAN_NOV21]
1. 1

[Option ID = 15815]
2. 2

[Option ID = 15816]
3.3

[Option ID = 15817]
4. 4
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[Option ID = 15818]

78) Indicate the correct chronological order of years the following cases they were decided:

(A) Case concerning the Temple of Preah Vihear
(B) Frontier Dispute (Burkina Faso V. Mali)

(C) The Caroline case

(D)} R.V. Keyn

(E) Chorzow factory (Indemnity) case

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D), (E)
(2) (E), (D), (C), (B), (A)
(3) (C), (D), (E), (A), (B)
(4) (B), (C), (D), (E), (A)

Treaferfiaa wrmet =l 36k for mu fofe o 9y o e TR HIAHITHR SAF e o ;-

(A)  Toras fafem & ufer w=sh wmen

(B)  FRETaaR (i s )
(©) el AmEen

(D)  3TR. 5™ FFH

(E) =i e (wfemon) e

i feu e faedi O A wd saue 994 Fifsu

1 A). B, (), (D), E)
2 (E).D),©), B, A
3 (©). D) E).A. B
@ (B O D). E. @

[Question ID = 4089][Question Description = Q78_Law_SHAAN_NOV21]
1. 1

[Option ID = 15819]
2. 2

[Option ID = 15820]
3.3

[Option ID = 15821]
4. 4

[Option ID = 15822]
79) Indicate the chronological order of the years of the following cases as decided by the Supreme Court:

(A) State of T.M. V. Balkrishna

(B} Mangesh V. State of Maharashtra

(C) Ram Kumar V. State of M.P.

(D} K.M, Nanavati V State of Maharashtra
(E) Mahesh chander V. State of Delhi

Choose the correct answer from the options given below;

(1) (A), (B), (C)}, (D), (E)
(2) (E), (C), (B), (D), (A)
(3) (D), (A}, (B), (C), (E)
(4) (€), (D), (&), (B), (C)

Feay =T gr e o Frsfefad amei % fofa = ad & wremagar srafem =l -



www.prepp.in

(A) UG T T 1. ATAF

(B) T S R U

(C) UM FHR FHAM HEIS UsH

(D)  .UH. TR AW WIS T4

(B) w9 st g usa

4t fau e foredl o @ v S 9 Fifa
1) A B, (C). (D). (E)

2 (E).(C), (B). D). A)

@ D), @A B.©),E

4 (©), D). A. B, O

[Question ID = 4090][Question Description = Q79_Law_SHAAN_NOV21]

1. 1

[Option ID = 15823]

2. 2

[Option ID = 15824]

3.3

[Option ID = 15825]

4, 4

[Option ID = 15826]

80) Arrange the correct sequence in which the liability for tort will arise for the following:-

(A} Damages

(B} Breach of duty
(C) Duty to take care
(D) Causation

Choose the correct answer from the options given below:

(1) (A), (B}, (C), (D)
(2) (B}, (C), (A), (D)
(3) (C), (B), (D), (A)
(4) (C), (A), (B), (D}

S 3 @i w1 Frfafad 1w w9 3 e

(A) :\l,T:FGFﬂ

(B)  “hdsd -9

(C) G sEs = e

(D) =i deg

e feu e foeedl 4 @ g sava == Shifau
(1) A). B), (C), M)

(2) (B). (C). (A). D)

(3)

(©). B). D). V)
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[Question ID = 4091][Question Description = Q80_Law_SHAAN_NOV21]

1.1

(©), (A4), B). (D)

[Option ID = 15827]

2. 2

[Option ID = 15828]

3.3

[Option ID = 15829]

4, 4

[Option ID = 15830]

81) Arrange the provisions of the Indian contract Act 1872 in chronological order (Section wise)

{A) Who are competent to contract

(B) Effect of mistakes as to law

(C) What agreements are contracts

(D) Agreement in restraint of marriage is void

Choose the correct answer from the options given below:-

(1) (C), (A), (D), (B)
(2) (A), (C), (B), (D)
(3) (C), (A), (B), (D)
(4) (A), (C), (D), (B)

ARG FigT SFHam, 1872 % IUa4] (RI3A1) T Hieihn & SATHR HIEId ;-

(A) EREwE % e gem e g

@B) Tofus yia i s v

(C©) FHA-BTAAEGT AL

D) Toame = yatus F I 2

o feu e faeredi 6 O wdl s am =3m fifs
1 (O.A).D).®

(2) (A).(0), ®B). D

(3) (O), A, B), (D)

(4) (A), (C), (D). (B)

[Question ID = 4092][Question Description = Q81_Law_SHAAN_NOV21]

T, %

[Option ID = 15831]

i

[Option ID = 15832]

i

[Option ID = 15833]

4, 4

[Option ID = 15834]

82) Arrange in chronological order the following judgments on cruelty as a ground of divorce

(A) A. Jaya Chandra V. Aneel Kaur
(B) Naveen Kohli V. Neelu Kohli
(C) Dastane V, Dastane

prepp
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| (D) Bhagat V. Bhagat

Choose the correct answer from the options given below:

(1) (€), (B), (D}, (A)
(2) (A), (C), (B), (D)
(3) (€), (D), (A), (B}
(4) (D), (C), (A), (B)

FA1, TR 1 Wah SR & Ha 1 famfoafas fofl o wengsn én o =afir =

(A) U, S SE W AR F
(B) & wiwel s Ffiq HrEed
(C) B 9™ S

(D) 9T S S

= fao o feredi 4 & gl 3o 1 A fifse

1 0.3, D).\
2 @W.0.6).0D
@ (©), D) @A) B
@ D). ©), &), ®B)

[Question ID = 4093][Question Description = Q82_Law_SHAAN_NOV21]
1. 1

[Option ID = 15835]
2. 2

[Option ID = 15836]
3.3

[Option ID = 15837]
4, 4

[Option ID = 15838]
83) Arrange the following in chronological order
(A) United Nation Conference on the Human Environment
(B} United Nation Conference on Sustainable Development
(C) United Nations Conference on Environment and Development
(D) World Commission on Environment and Development

(E) United Mations Sustainable Development

Choose the correct answer from the options given below:
(1) (A), (B), (C), (D), (E)
(2) (B), (A), (D), (C), (E)
(3) (A), (D), (C), (B), (E)
(4) (E), (D), (B), {C), (A)

Frfefid =i Hemrger afer #
d) T T w9 U ae
®)  wuroi famm e @y T weien

(©) v iR S et 9gan o e
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(D) TR 3R ToeRE Sadl T stram

(B)  ¥gR U ueR foehr
1 foa e Rrredi § 3w ser e wa i

1) @, 3. ©).D).(E
@ B, A, D), ). E)
3) &, D). ). B, E
@ (), D), ®), ), A

[Question ID = 4094][Question Description = Q83_Law_SHAAN_NOV21]

1.1

[Option ID = 15839]
1)

[Option ID = 15840]
3. 3

[Option ID = 15841]
4, 4

[Option ID = 15842]

prepp
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84) Prof. William Fisher identified four analytical constructs of thecries of intellectual property under which of the
following sequence?

(A)
(B)
(€)
(D)

Personality Theory
Labour Theory

Social Planning Theory
Utilitarian Theory

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(B), (A), (D), (C)
(C), (B), (A), (D)
(D), (B), (&), (C)
(A), (D}, (C), (B)

Faferfiaa fora wa 3 w1, faferam feer A ifes vver fagra o favetyoners s ) 9g=m 6 ;
4 = fage

®) e

(©)  amrE faame frera

(D)  IwifEEE e

= feu e faeredi 1 4 Udl I 1 =9[ it

1 B®. @ DO. O
2 (©).®.A).0D
(3 D). B @A), ©
4 (A, D). ©).B

[Question ID = 4095][Question Description = Q84 _Law_SHAAN_NOV21]

1.1
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[Option ID = 15843]
AL

[Option ID = 15844]
3 3

[Option ID = 15845]
4. 4

[Option ID = 15846]

85) The trend towards codification of the British constitution in whole or in part is a movement during the past decade
from eminent quarters. Arrange them in chronological order:

(A) Northern Ireland Act

(B) Referendum Act

(C) Scotland Act

(D) European Communities Act

Choose the correct answer from the options given below:

(1) (A), (D}, (C), (B)
(2) (B), (C), (A), (D)
(3) (D), (A), (B), (C)
(4) (C), (B), (D), (A)
fafen dfaam & wof @ snifires dfzarror 6 yafa e 7o § 3 wfeg a9 1 ve aelerm 3 376 wrasagan

srafedd i

(A) 390 ARl A
B)  SFT AfufEm
(C) Thieds At

O T afateat sl
Fr= fea e faenedi 4 @ w2 S s i

1 @), D). ©0).®
@ B, O, @A) O
3 D& ®.©

4 (C). (B). (D). ()
[Question ID = 4096][Question Description = Q85_Law_SHAAN_NOV21]
1. 1

[Option ID = 15847]
3.2

[Option ID = 15848]
a3

[Option ID = 15849]
4, 4

[Option ID = 15850]

86) Given below are two statements:

Assertion A : The rule making power of the Supreme Court for regulating the practice and procedure of the court is not
subject to any law made by the Parliament of India

Reason R : Only an impartial and independent judiciary can protect the right of individual without fear or favor

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both A and R are true and R is the correct explanation of A
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(2) Both A and R are true and R is NOT the correct explanation of A
(3) Ais true but R is false

(4) A is false but R is true

1= oM feo e #) v atfised (Assertion A) % w9 1 fafiad @ 1 360 39 F101 (Reason R) % ¥4 4 :

stfeyA A ; S<udA e 3 AT & e ada wRfeaes s fafafie w@ 3y Fam s A
sfaen AT de g s T TR oft s & a6

FOTR:  had Wk g o s =vamfas § fom fret wa anue o amfenl & siftrerd ) genaw
e 2|

IR FUA o AT 4, 19 TG e fasredi 1 8 e/l 3T I &1 75[ FHi)

(1) AR RAA 6 £ 3N R, A$ o =wen g
(2) AR REH v E JR R, A udt swen T 2
@ Agd@zdfEmRed @

@  Aud Al REE

[Question ID = 4097][Question Description = Q86_Law_SHAAN_NOV21]
1.1

[Option ID = 15851]
2. 2

[Option ID = 15852]
3.3

[Option ID = 15853)
4, 4

[Option ID = 15854]

87) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reasons R,

Assertion A : The right of private defence of body extends to causing of death to the Assailant in case of assault of throwing
or administering acid or an attempt to throw or administer acid which may reasonably cause the apprehension that grievous
hurt will otherwise be the consequences of such Act.

Reason R:  This provision was inserted under clause (7} of section 100 IPC by Act 13 of 2013 in view of increasing cases
of acid throwing on the girls and women in India

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct and R is NOT the correct explanation of A
(3) Ais correct but R is not correct

(4) A is not correct but R is correct

A 2 e fau e 21w ATRUA (Assertion A) % &1 ¥ forfigd 2 A 380 39 FRT (Reason R) ¥4 H :

stk A ¢ 3 S fasht ween o aifomr Sste e A 3 @ dsme e 41 93 % e i feufa 1 guemar
it ¥eg, s TR 38 iR & qhgel Fo Bl wHhal @ T wae 9 o U 8 38 Tl S
geqiond 3, AT BT 2

FROIR:  RG T ASFA MR nfEenedl W dSe HoH F dgd AN < g 2013 % AMFEW 13 30
AT 01 o & 90 100 F @ 7 F e Tusley Sid: weniid TRy m am

3LIeh e % areiren 1, = foa e freredl 3 & wel Suges 3 94 Hifdng)
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(1) A= REE a2 3R, A g smen 2|
(2) AFRRIF A 3N R, A v =i
(3) AgHzAfRREE T
@ AvdTiddfFRED D

[Question ID = 4098][Question Description = Q87 _Law_SHAAN_NOV21]
1. 1

[Option ID = 15855]
3,7

[Option ID = 15856]
3 3

[Option ID = 15857]
4. 4

[Option ID = 15858)]

88) Given below are two statements:

Statement | ; Dominant position means position of strength enjoyed by an enterprise in relevant market in India which
enables it to opreate independently of operative forces and affects competitors and consumers in its favour.

Statement |l : No enterprise shall abuse its dominant position.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement | and Statement Il are true.
(2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

49 g FyE feu e )

FAA I ;.  sAtosrll e @ it 2 15 R 3Tm gr aRa & O S d e weRE Rl @ ey
I3M1 2, FTH 38 TSRS Vi € s 9 Y Y=o 7 1 gerr e ae oo uiee
Td IQTFNST 1 39 O HSHCHF YT 2

FoA I1: 1 off o o] st fearfa = g a8 =om)

I90H FUF % el 4, 2 fee o a4 @ gem 39ue 3ava 99 s

(1) FRIdRIriga

@) %A I3 I 3HI 319 )

@)  wE I HA T, Al A I s 2
(4) oA I g, dfrd Fwea I g B

[Question ID = 4099][Question Description = Q88_Law_SHAAN_NOV21]
1.1

[Option ID = 15859]
7.2

[Option ID = 15860]
3. 3

[Option ID = 15861]
4, 4

[Option ID = 15862]

89) Given below are two statements: One is labelled Assertion A and the other is labelled as Reasons R.
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Assertion A : Under the companies Act of 2013 Central Government is authroised to implement a facility to file documents
in electronic form.

Reason R : Central Government is authorised to make rules to implement this facility and section 398, 401 and 402 have
been incorporated in the Act of 2013.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true and R is NOT the correct explanation of A
(3) Ais true but R is false

(4) Ais false but R is true

1 gy feu e 3| v 1fsem (Assertion A) % 9 4 forfiad 8 1 g0 39 #10 (Reason R) &4 | :

sk A ;v aafsfaam 2013 % 21019 SEarasl i Seldie T 1 Wa o shl FiAe S0 A 3G
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[Question ID = 4100][Question Description = Q89_Law_SHAAN_NOV21]
1. 1

[Option ID = 15863]
2. 2

[Option ID = 15864]
3 3

[Option ID = 15865]
4, 4

[Option ID = 15866]

90) Given below are two statements:

Statement | : No person except the father or mother of a child shall have the capacity to give the child in adoption under
the Hindu Adoptions and Maintenance
Act 1956.

Statement Il : Under the Hindu Adoptions and Maintenance Act 1956, the same child may not be adopted simultaneously
by two or more persons

In the light of the above statements, choose the most appropriate answer from the options given
below:

(1) Both Statement | and Statement Il are correct.
(2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

I 2 oM feum €)

FAI ;o T of - sififem, 1956 o ofmia e @ v <6 st o ot safaa o w8
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[Question ID = 4101][Question Description = Q90_Law_SHAAN_NOV21]

1.

2.

3

4,

1

[Option ID = 15867]

2

[Option ID = 15868]

3

[Option ID = 15869]

4

[Option ID = 15870]

Topic:- 58LAW_B

prepp

Your Personal Exams Guide

1)

Read the given passage and answer the questions that follow:

Privacy of the individual is an essential aspect of dignity. Dignity has both an intrinsic and

instrumental value. As an intrinsic value, human dignity is an entitlement or a

constitutionally protected interest in itself. In its instrumental facef, dignity and freedom are

inseperably inter-twined. each being a facilitative tool to achieve the other. The ability of the

individual to protect a zone of privacy enables the realisation of the full value of life and

Iiberty. Liberty has a broader meaning of which privacy is a subset. All liberties may not be

exercised 1n privacy. Yet others can be fulfilled only within a private space. Privacy enables

the individual to retain the autonomy of the body and mind. The autonomy of the individual is

the ability to make decisions on vital matters of concern to life. Privacy has not been couched

as an 1ndependent fundamental right. But that does not detract from the constitutional

protection afforded to it, once the true nature of privacy and its relationship with those

fundamental rights which are expressly protected is understood. Privacy lies across the

gpectrum of protected freedoms.

fera 7 et Y AR afi SR deavend 39 W STRE WA 9.

forel wafer o1 Frorn Soeft s =1 evavarss e 21 wicrssst o anfen o1 waTess dH1 ToRR & e Bid 31 arfes
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The referred paragraph is taken from the judgement of the Supreme Court in

(1) A.D.M. Jabalpur V. §. Shukla

(2) Mohini Jain V, State of Karnataka

(3) Maneka Gandhi V. Union of India

(4) Justice K.5, Puttaswami (Retd.} and another V. Union of India and others

e s Frefeiad geran | Isamm = o o 9 o wn 2

Y]
@)
(3)
(4)
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ifeh S w9 waies T
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[Question ID = 4102][Question Description = Q91_Law_SHAAN_NOV21]

1.

1

[Option ID = 15871]

2

[Option ID = 15872)]

b

[Option ID = 15873]

4

[Option ID = 15874]

2)

Read the given passage and answer the questions that follow:

Privacy of the individual is an essential aspect of dignity. Dignity has both an intrinsic and
instrumental value. As an intrinsic value, human dignity is an entitlement or a
constitutionally protected interest in itself. In its instrumental facet, dignity and freedom are
inseperably inter-twined. each being a facilitative tool to achieve the other. The ability of the
individual to protect a zone of privacy enables the realisation of the full value of life and
Iiberty. Liberty has a broader meaning of which privacy is a subset. All liberties may not be
exercised in privacy. Yet others can be fulfilled only within a private space. Privacy enables

the individual to retain the autonomy of the body and mind. The autonomy of the individual is

the ability to make decisions on vital matters of concern to life. Privacy has not been couched

as an 1ndependent fundamental right. But that does not detract from the constitutional

protection afforded to i, once the true nature of privacy and its relationship with those
fundamental rights which are expressly protected is understood. Privacy lies across the

gpectrum of protected freedoms.

fa wya eren 3 sAEgEE afen TR aeyyen 39 Ot snenfE WA .
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The referred paragraph is a part of the judgement delivered by:

(1)
(3)

Justice Chelameshwar (2) Justice D.Y. Chandrachud

Justice S.A. Bobde (4) Justice F.M. Nariman

wizfifa Sormms Frerferifia =mweanefon zro fae mo fofs s am 2

() =g S @ vy & A, wse
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[Question ID = 4103][Question Description = Q92_Law_SHAAN_NOV21]

1. 1

[Option ID = 15875]

2. 2

[Option ID = 15876]

ik

[Option ID = 15877]

4, 4

[Option ID = 15878]

3)

Read the given passage and answer the questions that follow:

Privacy of the individual is an essential aspect of dignity. Dignity has both an intrinsic and
instrumental value. As an intrinsic value, human dignity is an entitlement or a
constitutionally protected interest in itself. In its instrumental facet, dignity and freedom are
inseperably inter-twined, each being a facilitative tool to achieve the other. The ability of the
individual to protect a zone of privacy enables the realisation of the full value of life and
liberty. Liberty has a broader meaning of which privacy i1s a subset. All liberties may not be
exercised in privacy. Yet others can be fulfilled only within a private space. Privacy enables
the individual to retain the autonomy of the body and mind. The autonomy of the individual is
the ability to make decisions on vital matters of concern to life. Privacy has not been couched
as an independent fundamental right. But that does not detract from the constitutional
protection afforded to it. once the true nature of privacy and its relationship with those
fundamental rights which are expressly protected is understood. Privacy lies across the
spectrum of protected freedoms.

fou o ey ) eagEe ufen SR acuvET 39 O sreiE W .

ferefl safaa ) frran zoeht widsst 7 swravarss e 21 wfos © arfees oft wgrrer SH1 TR & Uea Bid § | arfeass
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TG TG 3 I ST 2 4 SfieR E S aecaq arae 4 frvfa @9 S Sraa safea ) e o 2l 21 e
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In which of the following case it was held that right to privacy is not protected as a fundamental right under the

Al o wag 3 fAfea gl 31

Constitution?

(1) M.P, Sharma V. Satish Chandra, District Magistrate, Delhi
(2) Govind V, State of M.P.

(3) R. Rajagopal V. State of Tamil Nadu

{(4) K.5. Puttaswami V. Union of India

Fr=forfian fra gead 1 2z Fof fen o o o fera & siftren 1 dfeum & s1ia ga aifdenr o wa 4
T I R 27

()  wa.di. Imi s adm =, S, foeed
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(49 .UM YERErH), SH SRd 9y

[Question ID = 4104][Question Description = Q93_Law_SHAAN_NOV21]

Pt

[Option ID = 15879]

Luk

[Option ID = 15880]

(I

[Option ID = 15881]

4. 4

[Option ID = 15882]

4)

Read the given passage and answer the questions that follow:

Privacy of the individual is an essential aspect of dignity. Dignity has both an intrinsic and
instrumental value. As an intrinsic value, human dignity i1s an entitlement or a
constitutionally protected interest in itself. In its instrumental facef, dignity and freedom are
inseperably inter-twined. each being a facilitative tool to achieve the other. The ability of the
individual to protect a zone of privacy enables the realisation of the full value of life and
Iiberty. Liberty has a broader meaning of which privacy is a subset. All liberfies may not be
exercised in privacy. Yet others can be fulfilled only within a private space. Privacy enables
the individual to retain the autonomy of the body and mind. The autonomy of the individual is
the ability to make decisions on vital matters of concern to life. Privacy has not been couched
as an 1ndependent fundamental right. But that does not detract from the constitutional
protection afforded to it, once the true nature of privacy and its relationship with those
fundamental rights which are expressly protected is understood. Privacy lies across the

gpectrum of protected freedoms.

e 70 Trery 1 SAFEE afeU STR aeavend 39 9T STHEE W 9.
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In which of the following case it was held that the procedure established by law means the procedure must be just, fair and
reasonable?

(1)
(3)

Kharak Singh V. State of U.P {2) A.K. Gopalan V. Union of India
Maneka Gandhi V. Union of India (4) Govind V. State of M.P.

frfafiaa fore gered | oz fvfa Ry v an f ot gro enfia wfwa &1 a1d 2 6 wfgea =magma, Fos

SR dehgra 2nfi ?
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[Question ID = 4105][Question Description = Q94 _Law_SHAAN_NOV21]

1.1

[Option ID = 15883]

2.2

[Option ID = 15884]

3 3

[Option ID = 15885]

4. 4

[Option ID = 15886]

3)

Read the given passage and answer the questions that follow:

Privacy of the individual is an essential aspect of dignity. Dignity has both an intrinsic and
instrumental value. As an intrinsic value, human dignity i1s an entitlement or a
constitutionally protected interest in itself. In its instrumental facef, dignity and freedom are
inseperably inter-twined. each being a facilitative tool to achieve the other. The ability of the
individual to protect a zone of privacy enables the realisation of the full value of life and
liberty. Liberty has a broader meaning of which privacy is a subset. All liberties may not be
exercised in privacy. Yet others can be fulfilled only within a private space. Privacy enables
the individual o retain the autonomy of the body and mind. The autonomy of the individual is
the ability to make decisions on vital matters of concern to life. Privacy has not been couched
as an 1ndependent fundamental right. But that does not detract from the constitutional
protection afforded to i, once the true nature of privacy and its relationship with those
fundamental rights which are expressly protected is understood. Privacy lies across the

spectrum of protected freedoms.
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Which one of the following statement is correct?

(1) Right to privacy is expressly provided as a fundamental right under the Constitution

(2) Right to privacy is protected as a fundamental right under Article 21 of the constitution

(3) Right to privacy is not protected as a fundamental right under Article 210of the constitution
(4) Article 21 of the constitution protects the life and personal liberty only from executive action

frafefem s s ™ 27
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[Question ID = 4106][Question Description = Q95_Law_SHAAN_NOV21]

1.

1

[Option ID = 15887]

2

[Option ID = 15888]

b

[Option ID = 15889]

4

[Option ID = 15890]
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Topic:- B8LAW_C

1)

Read the passage carefully and answer the questions that follow:

The acceptance of international law as law poses the problem of explaining its binding force.
and this in turn raises questions as to the authority of all law. Some writers have sought to
demonstrate the binding character of international law from its derivation from natural law.
But we have seen that natural law is nothing more than meorality and that the existence of
moral rules is no guarantee of the existence of corresponding legal rules. Such an argument
shows at most that the rules of international law are morally binding, not that they are legally
binding. Moreover, many legal rules are morally indifferent: morality may demand the
existence of some rule without specifying what that rule should be. Such is the case in
munieipal law with regard to the formalities required for wills, contracts and conveyvances:

and in international law with some of the rules regarding title to territory and the limits of
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jurisdiction. The binding force of such rules can hardly be atiributed to any moral

characteristic.

Fraferfera St sargede ud oM e vl 3 s d .-
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According to Austin, the positive law has following three attributes:

(1) Command, Sovereign, Obedience (2) <Command, Sovereign, Sanction

(3) Command, Obedience, Sanction (4) Sovereign, Obedience, Sanction

HIRA & AR, Farrensh Tt =61 frafofiga a3

(D
(3)
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[Question ID = 4107][Question Description = Q96_Law_SHAAN_NOV21]

Tl

[Option ID = 15891]

2. 2

[Option ID = 15892]

323

[Option ID = 15893]

4. 4

[Option ID = 15894]

2)

Read the passage carefully and answer the questions that follow:

The acceptance of international law as law poses the problem of explaining its binding force.
and this in turn raises questions as to the authority of all law. Some writers have sought to
demonstrate the binding character of international law from its derivation from natural law.
But we have seen that natural law is nothing more than morality and that the existence of
moral rules 1s no guarantee of the existence of corresponding legal rules. Such an argument
shows at most that the rules of international law are morally binding, not that they are legally
binding. Moreover, many legal rules are morally indifferent; morality may demand the
existence of some rule without specifving what that rule should be. Such is the case In
municipal law with regard to the formalities required for wills, contracts and conveyances;
and in international law with some of the rules regarding title to territory and the himits of

jursdiction. The binding force of such rules can hardly be atiributed to any moral
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characteristic.
Fraferfera Su st wamgds 9@ o argad] vl & 3w d -
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Which one of the following statements is not correct?

(1) Starke and Kelsen contend that there is both legislation and law enforcement in international law
(2) According to Starke, legislation being provided by multilateral treaties in international law

(3) According to Kelsen, sanctions are provided by the right of self-help and war in international law
(4) Treaties and self-help can qualify as legislation and law-enforcement in a positivist sense

i asn o sm e e
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[Question ID = 4108][Question Description = Q97_Law_SHAAN_NOV21]

1.

1

[Option ID = 15895]

ri

[Option ID = 15896]

e

[Option ID = 15897]

4

[Option ID = 15898]

3)

Read the passage carefully and answer the questions that follow:

The acceptance of international law as law poses the problem of explaining its binding force.
and this in turn raises questions as to the authority of all law. Some writers have sought to
demonstrate the binding character of international law from its derivation from natural law.
But we have seen that natural law i1s nothing more than morality and that the existence of
moral rules i1s no guarantee of the existence of corresponding legal rules. Such an argument
shows at most that the rules of international law are morally binding, not that they are legally
binding. Moreover, many legal rules are morally indifferent; morality may demand the
existence of some rule without specifving what that rule should be. Such is the case In

municipal law with regard to the formalities required for wills, contracts and conveyances;
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jurisdiction. The binding force of such rules can hardly be atiributed to any moral

characterstic.
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Who defines law ‘as a body of rules for human conduct within a community, which by common consent of this community
shall be enforced by external power?

(1
(3

)
)

Oppenheim (2)  Austin

Bentham (4) Friedman

freferfiea o 3 frg fafe =61 aast & it wrae =raer S et 1 wgg, S 3 FHTS R AW gl R
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[Question ID = 4109][Question Description = Q98 _Law_SHAAN_NOV21]

1.

4)

1

[Option ID = 15899]

2

[Option ID = 15%00]

o

[Option ID = 15901]

4

[Option ID = 15902]

Read the passage carefully and answer the questions that follow:

The acceptance of international law as law poses the problem of explaining its binding force.
and this in turn raises questions as to the authority of all law. Some writers have sought to
demonstrate the binding character of international law from its derivation from natural law.
But we have seen that natural law 1s nothing more than morality and that the existence of
moral rules is no guarantee of the existence of corresponding legal rules. Such an argument
shows at most that the rules of international law are morally binding, not that they are legally
binding. Moreover, many legal rules are morally indifferent; morality may demand the
existence of some rule without specifving what that rule should be. Such is the case In

municipal law with regard to the formalities required for wills, contracts and conveyances;

and in international law with some of the rules regarding title to territory and the limits of
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junsdiction. The binding force of such rules can hardly be atimbuted fo any moral

characterstic.

Fraferfera Su st womgds 9@ oM argad] vl & 3w d -

st faiy %1 faiy % w0 3 wien B s @) nersfeEnes viFad #i oo @ 9 g0%n 30 STl
3, #AR 3o FeraEn ud) fatrEi ) wiiteian | yE e T S ) 39 o A, et
ArsaeRr Wgfa wrpfaer forie & syeafera 2 2, % 20 38 i w1 v Forn 31 freg 3a Sen @ k et fafi
Ao A wrfes g2 ol 9 2 i s Pl A feraem aew fafves Frami i fammm A #8 i =6 2
T ToRR 1 qeh 31fber B siferr o3 quden 2 & sfaardty fafy & fram Sfas w9 8 st 2, 3 R fafis wa g
ARl A, wa o fafee fram Sde w9 9 faaa 8; Ademan § wfaga fem sAresfarfoa @@ € & awd 3
gl whR 1 wren g4, @iae i s genie asdia faite gae sftoerferasi & a1 25 efi
e fafen § el @1 oges o) Feida i dim gedh wforr e 3§ o 21 59 yEr % el A
AT 1 YT F1 o) e wee ot orrifra feren s e 2

Which one of the following statements is not correct?

prepp
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(1) Hart’s analysis of law suggests that international law consists of legal rules forming not a system but a set of rules.

(2) The absence in international law of any basic rules of recognition prevents its being unified into a system

(3) International law remains a mere set of separate rules
(4) Many of the rules of international law rest on treaty, not on custom

ftafad W & =9 @ %y w9 7 37

(1

)

3
&)

BT 30 fata o favetywr 2z Yerma oo & 7e sraurdm Rt 1 it Fram v voredt 371 e 3 a9
e frm g 31

Farrd feaf 1 st = ferelt wmar= Frami o s1ara 7 58 v vl 3 el @ 1 e s
2l

AqWreg Tater faiy= fami =1 9 v vy s = '@ TR

SR faisr d srga 4 T afy ot anenia 3 &, 3 e w

[Question ID = 4110][Question Description = Q99_Law_SHAAN_NOV21]

1.

3)

1

[Option ID = 15903]

2

[Option ID = 15904]

S

[Option ID = 15905]

4

[Option ID = 15506]

Read the passage carefully and answer the questions that follow:

The acceptance of international law as law poses the problem of explaining its binding force.
and this in turn raises questions as to the authority of all law. Some writers have sought to
demonstrate the binding character of international law from its derivation from natural law.
But we have seen that natural law i1s nothing more than morality and that the existence of
moral rules is no guarantee of the existence of corresponding legal rules. Such an argument

shows at most that the rules of nternational law are morally binding, not that they are legally
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The view that international law consisted of the precepts dictated to States by natural law was advanced by:

(1)
(3)

binding. Moreover, many legal rules are morally indifferent; morality may demand the
existence of some rule without specifving what that rule should be. Such is the case In

municipal law with regard to the formalities required for wills, contracts and conveyances;

and in international law with some of the rules regarding title to territory and the limits of

jurisdiction. The binding force of such rules can hardly be atiributed to any moral

characteristic.
Frafefiaa Fu s sorgds 0@ M srgadi vl & 3 d o

st fata %1 fafy & w0 3 wien B smn ) norsmfeEne viFad i oo @ 3 g0 30 STl
2, 9in 3o wowEn adfl faftndl i witmrfen w aw fam o s 20 3 e A, sEwsa fafy A
AregeRrl Wi Wrepfoer i & syt 21 2, % 20 30 i w1 v e 31 g e e 3 TR arefes faiy
A 4 stftrs @ ofl 91 2 < A Frai At feraran wew fftes Tl R forraraan ) =618 TRl = 21
T WRR 1 7o il B avfbrens 3g gufen 3 & stawnea faf & fran Afes w0 @ saged 2, 2 fr faftes wu @
AR AU, wga H fafeen fram e w9 4 faa 8; Adwman § wfaga fFem et @@ F 2 awa 8
3l W &1 uHen adiEa, afae it s v geie usdi fafer geft sdtveifmasi o awet § 2; el
e fafen § dwneia @1 oges o) Feida i dim ged s el § o 21 59 yEr % e A
T 1 YR F R S made W pori i e s e 2

Kelsen (2) Vattel

HLA Hart (4) Salmond

I3 WA foren 3R wiaarfea 3 for starsi fafe W smangsi =61 W 3 S TS 1 giepfaek fafd g sifeefm

ferm s 27
(1) e (2) dred
(@) TETEL R (4) @wvE

[Question ID = 4111][Question Description = Q100_Law_SHAAN_NOV21]

1. 1

[Option ID = 15907]

i

[Option ID = 15908]

3.3

[Option ID = 15309]

4, 4

[Option ID = 15910]
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Topic:- GP_Set3_A

1)

The table below embodies data on the number of candidates who appeared (A) and passed (P)
1 Civl SBervices Examintion from four cities K, L, M and N during the year 2014 to 2019. In

accordance with the table, answer the question

Year-wise Number of Candidates from Different Cities
City —> K L M N
Vear A‘P A‘P A‘P A‘P
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N

2014 182 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

it & e arferest d ad 2014 @ 2019 % v 9K wgg K. L. M 3t N o fafos gen whien 4 wfde

giaret st (A) st wdhen 3 Sl vl (P) 6 dem & wree g o ¥ ol % sEER e

%1 I ST
fafim m=g @ st 6t afar =

T —> K L M N
8% AlPlalP|Al|lP| A |P
S

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

What 1s the difference between the total candidates who appeared and total candidates who
passed from City K in all the six vears together?

(1) 2060 (2) 2070

(3) 2080 (4) 2090

mor % T

oofl 37 9w % W W K ¥ vlen |4 uia srae =i f $o @ o g8 4 s gea
At i Fo o * o o A Gha 2 7

(1) 2060 (2) 2070
(3) 2080 (4) 2090

[Question ID = 4117][Question Description = Q01_GP_21NOV_S51_SHAAN]

1
2
3.
4

. 1 [Option ID = 15931]
. 2 [Option ID = 15932]
3 [Option ID = 15933]
. 4 [Option ID = 15934]

2)

The table below embodies data on the number of candidates who appeared (A) and passed (P)
i Civl Services Examintion from four cities K, L, M and N during the year 2014 to 2019. In
accordance with the table, answer the question

Year-wise Number of Candidates from Different Cities
City — K L M N
Year AlP|A|P|A|P A P

\’

2014 182 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
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ZV1i 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

=t €t 7 arforer d o 2014 @ 2019 % A =R wEd K L, M 3t N o o gen wdien 4 wnfie
e sl (A) oik wden J st st (P) B dem $ siwe g e ¥ wfves B omEw W

ﬁfﬁﬂ:?ﬁﬁm
fafim wzd @ sreafiat f adear @en

T —> K L M N
o A|P|lA|lP|A|P| A |P
¥

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 [ 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 [ 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 [ 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

What is the average number of candidates passed from all the four cities in the year 2015?

(1) 528
(3) 530

2)
4

529
531

T 2015 % /A w91 e 9 I3 giHae et £ sfea aen e 20

(1) 528
(3) 530

(2)
(4)

529
531

[Question ID = 4118][Question Description = Q02_GP_21NOV_51_SHAAN]

1
2
3.
4

. 1 [Option ID = 15935]
. 2 [Option ID = 15936]
3 [Option ID = 15937]
. 4 [Option ID = 15938]

3)

The table below embodies data on the number of candidates who appeared (A) and passed (P)
1 Civl SBervices Examintion from four cities K, L, M and N during the year 2014 to 2019. In

accordance with the table, answer the question

Year-wise Number of Candidates from Different Cities
City — K L M N
Year AlP|A|P|A|P A P

\’

2014 182 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 [ 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

it & 1€ arferssr d ad 2014 @ 2019 % A =R wwy K. L, M st N o fafae gan wdian & i
eare sl (A) stk alen 3 st st (P) R den & wiwe e ¥ el % sHER W

—_— e
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L L B 10 Al B

fafim ozd & srafiiai 6t afar gen

T —> K L M N
N A|P|A|P|A|P]| A |P
S

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 [ 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

For which of the following cities the percentage of candidate passed among those who
appeared for the examination 1s minimum in the year 20197

(1) K ) L
(3) M 4 N

ad 2010 ¥ fy=fefiza 3 o Fra o @ vl § e BaTe sreBial § @ 59wl A s Bam
sreafiat St s i giewa =g 2 7

(1) K (2 L
3 M 4 N

[Question ID = 4119][Question Description = Q03_GP_21NOV_51_SHAAN]
1 [Option ID = 15939]
2 [Option ID = 15940]
3 [Option ID = 15941]
4 [Option ID = 15942]

oW R

4)
The table below embodies data on the number of candidates who appeared (A) and passed (P)
i Civl SBervices Examintion from four cities K, L, M and N during the year 2014 to 2019. In

accordance with the table, answer the question

Year-wise Number of Candidates from Different Cities
City — K L M N
Year AlP|A|P|A|P A P

\’

2014 182 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 [ 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

=t 4 12 drferrt d a9 2014 ® 2019 % <F 9W wEy K, L, M 3t N o fafas ger gdan | i

eare sl (A) stk alden 3 st sl (P) R dem & siwe fag ¥ el B amEm wE
HT I G ;

fafirm ot @ srafiat  afear gen

W_} K L M N
T A|'P ,ﬁ.l'D rll'D :‘al'ﬂ
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S

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

What is the percentage rise in the number of candidates who passed from City K from year
2017 to vear 20187

(1) 32% (2) 36%

3)  40% (4) 44%

st K o 99 2018 § 3ol sreafdai =6 g agi 9 a9 2017 0 Il srafda) i gen 4 foeaar ufewa
a7

(1) 32% (2) 36%
(3)  40% (4) 44%

[Question ID = 4120][Question Description = Q04_GP_21NOV_S1_SHAAN]
. 1 [Option ID = 15943]
2 [Option ID = 15944]
3 [Option ID = 15945]
. 4 [Option ID = 15946]

oW =

5)
The table below embodies data on the number of candidates who appeared (A) and passed (P)
1 Civl Services Examintion from four cities K, L, M and N during the year 2014 to 2019. In

accordance with the table, answer the question

Year-wise Number of Candidates from Different Cities
City — K L M N
Year AlP|A|P|A|P A P

J

2014 182 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 [ 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

it & 7€ arforesr d A 2014 @ 2019 % A =R wwy K, L, M st N o fafae gan dian 4 i
eare sl (A) stk aden 3 st srerfial (P) R dem & wiwe faw ¥ el % smEm W

1 I AT
ey | K L M N
g A P A P A P A P
\
2014 T82 | 360 (612 | 310 | 720 [ 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 [ 480 | 1135 | 840
201 A 7an |l a0l geal onoe | gon |l oon | 1nca | cma
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N el e - T Sl N T S T M T e e o T et e

2017 750 | 3680 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 800 | 315 | 740 | 464 | 1165 | 780

The total number of candidates who passed from City M in all the six years together 1s what
percentage (%) of the total candidates who appeared from City M in all the six years
together?

(1)  56% (2) 58%
(3)  60% 4 62%

wefi 37 a9 % F wR M ® Sl 2R A srAiiEl f pw wem o wefi 37 a9 % e w M 3§
gdien @ 9F @ T SR A T e i e ufawe 27

()  56% 2) 58%
3)  60% 4) 62%

[Question ID = 4121][Question Description = Q05_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15947]
2. 2 [Option ID = 15948)
3. 3 [Option ID = 15949]
4. 4 [Option ID = 15950]
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Topic:- GP_Set3_B

1) Which theory of learning supports reflective level of teaching?

(1) Theory of conditioning (2) Reinforcemet theory
(3) Need-reduction theory (4) Cognitive field theory

STRETT 1 HA-T g e % T T aEeA w2 2

(1) T = fagE 2) weer g
(3) ey~ g (4) TIFERHE-2 figE

[Question ID = 4122][Question Description = Q06_GP_21NOV_S51_SHAAN]
1. 1 [Option ID = 15951]
2. 2 [Option ID = 15952]
3. 3 [Option ID = 15953]
4, 4 [Option ID = 15954]

2) Identify the characteristics of field-dependent learners from the following?

(A) Perceives global aspects of concepts and materials
(B)  Focuses on facts and principles

(C) Prefers to work alone

(D) Seeks guidance and demonstration from teacher

(E)  Likes to cooperate

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only
(2)  (A). (D) and (E) only
(3 (B). (C) and (D) only
(4) (). (D) and (E) only

frfefiga © % Fros-onida 1t =1 & fSeeaet 6 veam Fifsm -
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(A) STEURMS AN THaEgatl & avd® Tgool 1 Tag-l
(B) T iR fagl W ww 3 B

(C) 3Thel A A GHE Hl 8

(D) Foegr @ e otk weea i o e 2

(E) 9eA 1 96E %l 2

1 i o meat § © TR ST 1 99 it

() %= (@A), B) 3 (C)
2 =4 (A), (D) ¥R (E)
3 || B), (C) ¥R (D)
@ =9 (C), (D) i (E)

[Question ID = 4123][Question Description = Q07_GP_21NOV_S51_SHAAN]

1. 1 [Option ID = 15955]
2. 2 [Option ID = 15956
3, 3 [Option ID = 15957
4, 4 [Option ID = 15958]

3) Match List I with List IT
List I List II
(Levels of teaching and learming) (Main feature)

(A4) Autonomous development level (I) It is problem-centred and requires on
the part of learners more active
participation, more imagination and
creativeness

(B) Memory level (I)) Lays stress on the importance of
students’ feelings and minimizes the
value of hard thinking.

(C) Understanding level (III) It is comparatively thoughtless.

(D) Reflective level (IV) It emphasizes on  seeing  of
relationships between principles and
solitary facts,

Choose the correct answer from the options given below :
(1) (A)-(D). (B)-I). (C)-(III). (D)-AV)
(2) (A)-(I11), (B)-AV), (C)-(D). (D)-(ID)
(4) (A)-(IV}), (B)-(D, (C)-AI), (D)-(11I)
g=fi-1 % e gef-11 = frem ifs
-1 Telt-11
freror Tt arferm & TR g fammang
(A) T@TEY e =R () =% 99& *iEd 5t & 9 su9 sifbraesat
$H omgra afus wfe weiied wfte
e HI Foretierar i st gidt 21
(B) TR %R AD =z faenf¥Ei H gEre + gge 99w @
2 3T 3T A= o ugeT =t %H T 2
(C) Ty T (I11) 7 goTere &9 ¥ foamdia g 2
(D) s W) (IV) =z fagmal o wwrhl Az & o9 g9y =i

EAC R Ll i

Fror By 7w Braeat O o = w7 =T s St -
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1)  A-@. B-AD, (C)-1I). (D)-IV)

2) (A}-(ID). (B)-IV). (C)-(1), (D)-(D)

6)) (A)-(D). (B)-(III), (C)-AV), (D)D)

@)  (A)-AV). B)-0). (C)-dI). (D)-III)
[Question ID = 4124][Question Description = Q08_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 15959]
2. 2 [Option ID = 15%60]

3, 3 [Option ID = 15961]
4. 4 [Option ID = 15962]

Given below are two statements :

Statement I : Knowledge, comprehension and application levels in Bloom's taxonomy

belong to the higher level of cognitive learning.

Statement II : Organization and characterization belong to higher level of affective

outcomes,

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.
2) Both Statement I and Statement II are incorrect.
(3) Statement I 15 correct but Statement I is incorrect.
(4) Statement I 1s incorrect but Statement I is correct.
et g1 s fog e €
% (D) : @ i AR (FFEEE) § gE, SEEY R ATEN T AHEEE A % 5=
R "9uia 3
%97 (1D : TR S TG WraTaTs qionH % 39 TR 4 gEiid B

IUIth YA % Sk |, i 4T e famedr f @ ged 3w I w1 e Hifu

1)  FoR (1) 3R (ID) St T8t &
@  wa (1) 3 (D) I T §
(8) = (D) Ut 2, S wua (I1) veid 2

(@) e (1) T 2, SifEe e (1) @l 2

[Question ID = 4125][Question Description = Q09_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 15963]
2. 2 [Optien ID = 15964]
3. 3 [Optien ID = 15965]
4. 4 [Option ID = 15966]

3  Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as
Reason R.
Assertion (A):  Formative assessment is process linked and directed at raising motivation
and engagement levels in learning.
Reasons (R) : The purpose of formative assessment 1s to improve quality of learning

outcomes.
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In the light of the above statements. Choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A).
(3 (A) 1s correct but (R) 1s not correct,

{4) (A) 158 not correct but (R) is correct.

3 o g T F : oF aIfiEeE (Assertion A) ¥ W i fafam ® 91 390 39 FRW (Reason R) #
w9 q

SR (A) ¢ fmioTeneh 3rReE 9RO sAfer © greiRig 2 oii 3ud uon of @ @l @t
wor ¥ PR ot 21

=R (R) Fatoeas s 1w firmy afonat it e d gaw e 2|
ITARE FIAI % A °, A o T fahest § ¥ A9 SUTE ST 99T iR

(1) (A) I (R) IA T F AR (R), (A) F T8 =0e" 2

(2) (A 3k (R) 21 wd £, aRm R), (A) it @ oo 9 2

(3 (A wd e, dfF (R) udl 7@ 2

@ QTR AE R, I R) T 7

[Question ID = 4126][Question Description = Q10_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15967]
2. 2 [Option ID = 15968]

3. 3 [Option ID = 15%69]
4, 4 [Option ID = 15%70]

6) Creating purpose statements. research questions and hypotheses that are narrow and
measurable would mark the characteristic features of which research type?

(1) Narrative research (2) Ethnographic research

(3) Grounded theory research (4) Experimental research

TS HYE, WY Te i aRfi @ 9 ofmern dam wen Gefafas 4 @ e wa wer #
fergioar 27

(1) e wy (2) T Wy

(3) e fagaats =g (4)  WETeTS WY

[Question ID = 4127][Question Description = Q11_GP_21NOV_51_SHAAN]
1. 1 [Optien ID = 15971]
2. 2 [Optien ID = 15972]
3. 3 [Optien ID = 15973]
4. 4 [Option ID = 15974]

7) In ‘two groups, randomized subjects post test only’ research design which of the following
may be the source for jeopardizing validity?
(A) Pretesting procedures
(B) Measuring instruments
(C)  Interaction of selection and the independent variable
(D) Reactive experimental procedures

(E)  Statistical regression

Choose the correct answer from the options given below :

(1) (A and (B) only
(2) (B) and (C) only
(3) (O)and (D) only

AN T and T ey
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. W TEEEET T R

2 guEl @ Afossd TSl W kel 9ge ghan aTel Wi ifiished % Siaria Suar = afior a9 % aia
% %0 ° frferfiga § 9 #9-9 €ia &+ 27

(A) TG T

(B) H19% =A

(C) = 3R &y =R % o9 274 GF

(D)  fafsrardia wmers gl

(E) wifewsra @amsEm

= fou U fweTl § ® w9 S W 99 S

(1) =& (A) AR (B)
(2) ¥ (B) 3 (C)
(® % (O) 3t (D)
4 =& (D) IR (EB)

[Question ID = 4128][Question Description = Q12_GP_21NOV_S1_SHAAN]

P bl D —

. 1 [Option ID = 15975]
2 [Option ID = 15976]
3 [Option ID = 15977]
4 [Option ID = 15978]
%) Match List I with List II
Tast I Last IT
Research Steps Main features
(A) Defining a research problem () Appropriate statistical techniques for
data analysis
(B) Hypothesis making (I) Representativeness of the units chosen
(C) Drawing a research sample (III) Identifying the variables for setting up
a plausible relationship
(D) Hypothesis testing (IV) Carefully chosen terms and concepts
with operational descriptions, if need
be.
Choose the correct answer from the options given below :
(1) (A)-(I). (B)-(I). (C)-(III). (D)-(IV)
(2) (A)-aD), (B)-(T). (C)-(IV), (D)-II)
(3 (A)-ID, (B)-AV). (C)-(D). (D)-{1I)
(4) (A)-(IV). (B)-(1I), (C)-(II). (D)-(I)
-1 % Ty -1 =1 firem Hifs
-1 el-11
T = = g fammaT
(A) T TEEAT B TR AT ) srwel fayanm 3g gfg WieThE TS
(B) ufeReaT 391 e (I =afa gHer i afafRea-ama
(©) wita wfagw o (D) afrae dey wonfid e &g =0 9 Jegd
=hTAT
(D) ufEegT qhEo (V) ETIFa 9e W, FE feon afEa
TiieTiSeR 9t Tt STaawene
A T |

H= few 1u et § @ W) I w1 9EA Hifs
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(1)
(2)
(3)
(4)

(A)-@), (B)-dD). (O)-(ID). (D)-AV)
(&)-(D), (B)-(I), (C)-(IV), (I)-(11)
(A)-I1I), (B)-AV). (O)-D). (D)-AI)
(&)-AV). (B)-(I1D). (O)-(1D), (D)-(I)

[Question ID = 4129][Question Description = Q13_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15979]
2. 2 [Option ID = 15980]
3. 3 [Option ID = 15981]
4. 4 [Option ID = 15982]

9)

Given below are two statements :

Statement I : Research ethics forms a genuine concern for research to lend credibility in

findings.

Statement II:  Use of ICT in research is mandatory as it 1s economical 1n terms of time

and use of resources.

In the light of the above statements. Choose the most appropriate answer from the options

given below :

8y Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3 Statement I 1s correct but Statement II is incorrect.

4) Statement I is incorrect but Statement IT is correct,

fedsmfiumi .,

97 (D : My seR-arE feedat #@ fagaudas wr % fag e 3q o aadees wter g

F 2|

F9 (1D ; Mg #§ o @ A F O AFEE & FEits T gud iR gl % M % Ty o

firqerdl 2

SUUTE FUE H e H, o 23U o faeredi A § Aed U™ SR B 99 S

(1)
()
(3)
@)

oM (I) 3 (ID) 31 &) B
F (T) 3R (17) 2T Tord &
% (D) TA) 2, afF #em (1) e &

%y () T 2, S w99 (1) 2 2

[Question ID = 4130][Question Description = Q14_GP_21NOV_51_SHAAN]
. 1 [Option ID = 15983]
. 2 [Option ID = 15984]
. 3 [Option ID = 15985]
. 4 [Option ID = 15986]

1
2
3
4

10)

Given below are two statements : One 18 labeled as Assertion A and the other is labeled as
Reason R.

Assertion (A):  Format and styles of referencing in thesis writing are enforced with a view
to effect observance of formal protocols.

Reasons (R) : Formal protocols ensure avoidance of dewviations from norms and
procedures of reporting research.
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In the light of the above statements, Choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (B) is NOT the correct explanation of (A).
(3) (A) 1s correct but (R) 1s not correct,

(4 (A) 18 not correct but (K) 1s correct.

= 2 wom B e 2 :Q%W{Assertianﬁ}%ﬁmﬁ%ﬁﬁﬁ%aﬁ@ﬂmm (Reason R) %

"W

gy (A): WU-USY @A 8 WA WU ot Geft w1 vam situenfen wielwia @ eEaeE
gifysa w6 = yaem g o S 2

F (R) : sftwarir Miewia Jfiated g = AEel o gfEeT ¥ faerrar T g
FA B 2

UL FI % IEE A, A9 e e fywed § ¥ gey Iugw IR % wae Fif

(L) (A) IR (R) 2 a2 5 R), (A) i T = 2

@ Q) AR R) I T E, R R), () F 5 e T
(3) (AT e, AFE ®) w6 7@ 2

@ (A Td TR, afe (R) T 2

[Question ID = 4131][Question Description = Q15_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15987]
2. 2 [Option ID = 15988]
3. 3 [Option ID = 15989]
4. 4 [Option ID = 15990]

th) The least contributor to noise in communication system by the audience is

(1) Selective attention (2) Selective perception

(3) Selective retention (4) Selective intention

TEYTO] TS T ATaT oS- § Ted %Y "EAn = -

(1)  =FRHF S (2)  TETOTH IEEEA

(3)  =EATAER YR (4) FFATHE =T

[Question ID = 4132][Question Description = Q16_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15991]
2. 2 [Option ID = 15992]
3. 3 [Option ID = 15993]
4. 4 [Option ID = 15994]

12) \Which of the following are parameters of an effective communication?

(A) Freedom to see and hear. What is here?

(B) Freedom to say. What one thinks and feels?

(C) Freedom to decide. What should be, was, are, will be?
(D)  Freedom to feel. What one feels?

(E)  Freedom of always waiting for permission.

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (A). (B) and (C) only
(3) (B), (C) and (D) only

£ M MN and iFY andrr
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frfafiga § ¥ =i9 & TH-us waE geigey % aUe 87

(&)
(B)
(©)
(D)
(E)

=

(1)
(2)
(3)
4

7E I B - AR @A SN g i T
g T WrEaT A HEHY WA 57 - FG e il TIaal
w1 BT WIEY, 91 g3, F41 § T&T 8, 41 ¢ — I Fofa o i e
% T TEGH FA B¢ - T8 HegH T I THE
AT FEATT S o9 U Sawan
few T formeat § o wE IO R = it
weIe (A), (B) it (D)
Faa (A), B) 31 (C)
*e (B), (C) it (D)
#ad (C), (D) 37 (E)

[Question ID = 4133][Question Description = Q17_GP_21NOV_S51_SHAAN]
1. 1 [Option ID = 15995]
2. 2 [Option ID = 15996]
3. 3 [Option ID = 15997]
4. 4 [Option ID = 15998]

13)

Given below are two statements : One is Iabeled as Assertion A and the other is labeled as

Reason R.

Statement I : Communication 1s the process of transmitting a message from a source to
an audlence via a channel,

Statement IT : To establish ‘Commonness’ between the source and the audience 1s

effective for success of communication.

In the light of the above statements, Choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement Il are false.
(3) Statement I 1s true but Statement 11 is false.

(4) Statement I 1s false but Statement II is true.

it & e g T 7 wF Al (Assertion A) % % # fiflag ® @t 39U 3@ FR0 (Reason R) %

E‘Iﬁ:

%9 1: FaFd SAfaw Tl T @@ s € 99 i o fafler (wewemi) % o
e gl

w11 ; ara it fefer wmm a1 o & oo weel 6w B w1 A w3

IHIRR T B ATE H, A fou e famest § ¥ aed SugT ST W 99 IR

(1)

FHo I &t 11 21 udl &
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(2)
(3)

(4)

Y I AR 11 131 Ted 2

HoA 198 3, Sfe wya 11 7o 2

FoF I 7eAd 2 elfeha wya 11 udi &

[Question ID = 4134][Question Description = Q18_GP_21NOV_S51_SHAAN]

1
2
3.
4

. 1 [Option ID = 15999]
. 2 [Option ID = 16000]
3 [Option ID = 16001]
. 4 [Option ID = 16002]

14)  Match List I with List II

(&)
(B)
(C)
(D)

ListI
Styles that impede communications

Placating
Blaming

Computing

Distracting

List IT
Characteristic feature
(I)  Doing or saving what 1s irrelevant.

(II) Being overcorrect.

(II1) Fault finding and acting as superior.

(IV) Talking in an ingratiating way

Choose the correct answer from the options given below :

(1) (A)-(). (B)-AL), (C)-(ID), (D)-IV)
2) (A)-I), (B)-(I). (C)-(IV), (D)-1I)
(3) (A)-(IID), (B)-IV), (C)}-(D), (D)-(D)
(4)  (A-IV). B)-dID). (C)-d1), (D)D)
-1 % o ge-11 = firem fifsg
.1
St S T § aryes 2
(A) gEFEm
(B) SR
(C) HTTEA
(D) AF-H97
e fau 7o formeat 4 o wEt SO = uEe i
(1) (A)-(D). (B)-(ID). (C)-11), (D)-(IV)
(2) (A)-dD. (B)-(D). (C)-IV), D)-AID
(3) (A)-dIL), B)-IV), (C)-(D), (D)-(1D
4) (A)-(IV), (B)-(I1I). (C)-(1D), (D)-(D)

geft-11
ferieat
(I)  SETE &1 B A1 He
D) mgar * ufy sl sewd g
(I1D) wTefot @@t Si 3199 =i g AH Sata

hiAl

AV) ek B U g2 A b 9FieE § S
AT

[Question ID = 4135][Question Description = Q19_GP_21NOV_51_SHAAN]

1
2
3.
4

13) Given below are two statements : One is labelled as Assertion A and the other is labelled as

. 1 [Option ID = 16003]
. 2 [Option ID = 16004]

3 [Option ID = 16005]

. 4 [Option ID = 16006]

Reason R.

Assertion (A) :

homophilous.

More effective communication accurs when source and recelver are

prepp
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Reasons (R) : Source and receiver use same language and words to stimulate sinlar

meaning.

In the light of the above statements, Choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A).
3) (A) is correct but (R) 1s not correct.

(4) (A) 1s not correct but (R) is correct.

= 2 =99 Bu U 3 o siiymes {Assertion&}%%ﬂﬁ%ﬁ@ﬁ%?ﬁ?@?éﬁﬁw(Beascnﬁ}%

”
O H

aTfaeRem (A) : 9 Gid T AT UF B 901 W B & o U9 guwer afed g 2
0 (R) : T T AaT TF W AY WiUG B Bg T Bl ot hi 9T U9 UGl W SEgAm
T 3

IR FYA % A 9, i faw T fawedt ° © uew Sugw S W 9F IR

L) (A s (R)EH T € 3R (R), (A) i & e 2

@ (A R (R)ZA T E, AR R), (A) F T = T 2
B (AT R, W R) 76 T 2

@) (A TE R, dfe R) wE 2

[Question ID = 4136][Question Description = Q20_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16007]
2. 2 [Option ID = 16008]
3. 3 [Option ID = 16009]
4. 4 [Option ID = 16010]

16) A milkman has been mixing water with milk to earn 25 per cent profit by selling the mixture
at the cost price. The ratio of water and milk. respectively, 1s?

(1) 4:5 @ b5:4
3 1:5 @ 1:4

TF - 39 TEE | gy § 9« e @ 2 7 58 e-fthe 3o w35 59 % e gea W e |
25 Wi 1 09 W F| S TR 59 W ST § -

1 4:5 (2)
B3 1:5 4 1:4

)

[Question ID = 4137][Question Description = Q21_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 16011]
2. 2 [Option ID = 16012]
3, 3 [Option ID = 16013]
4. 4 [Option ID = 16014]

17) A 12 percent debt instrument fields 20 percent return. The market price of the underlying
debt mmstrument 1s

() Rs. 167 (2) Rs. 170
(3) Rs. 60 (4) Rs. 40
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12 wferre =rel Tk sRu-gus & 20 wiewd 1 @ (fes) T gl 31 3% H0 09 0 SR 0o § -

1)  167¥H (2) 170 ¥
(3 60T (4) 40 ¥

[Question ID = 4138][Question Description = Q22_GP_21NOV_51_SHAAN]
1. 1 [Optien ID = 16015]
2. 2 [Optien ID = 16016]
3. 3 [Option ID = 16017]
4. 4 [Option ID = 16018]

18) The difference between the simple interest received from two different sources on Rs. 1,500
for three years is Rs. 13.50. The difference between their rates of interest is

(1) 0.1% 2) 0.2%
3) 0.3% 4) 0.4%

1500 T =] U W G STeTT-STer WAl O o 39 % for WTH ARy S 1 S 13,50 99 2 I
ST T I AW ¢ -

(1) 0.1% @ 0.2%
(3)  0.3% @) 0.4%

[Question ID = 4139][Question Description = Q23_GP_21NOV_S51_SHAAN]
1. 1 [Option ID = 16019]
2. 2 [Option ID = 16020]
3. 3 [Option ID = 16021]
4. 4 [Option ID = 16022]

19 watch reads 4.30. If the minute hand points East, in which direction will the hour hand

point?
(1) North (2) North-West
(3) South-East (4) North-East

UF UE 4.30 U9 fomn W 2| A e Y gg @ o s R @ 2 9 92 b g T e W she
T 7

(1) I (2) IW-UiTEm
(3)  glér-d (4 -yl

[Question ID = 4140][Question Description = Q24_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 16023]
2. 2 [Option ID = 16024]
3, 3 [Option ID = 16025]
4, 4 [Option ID = 16026]

4y In a certain code language, 24685 1s written as 33776. How 1s 35791 written in that code?

(1) 44826 (2) 44882
(3) 46682 (4) 44682

Hfqed 2 9T H 24685 33776 feran S 31 3w w2 F 35791 H Frw wwER foran s ?

(1) 44826 (2) 44882
(3) 46682 (4) 44682

[Question ID = 4141][Question Description = Q25_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16027]
2. 2 [Option ID = 16028
3. 3 [Option ID = 16029]
4. 4 [Option ID = 16030]

21) According to Nyaya the argument — ‘Sound is eternal because it is produced’ commits.
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which of the following fallacy?

(1)
(2)

(3
(4)

Viruddha (Contradicting reason)

Nature of the opposable reason (Satpratipaksa)

Unestablished reason (asiddha)

Nature of unopposable reason (a Satpratipaksa)

A % FFUR, T - S e & s 7 G i 7, ¥ Freafafea @ | w9 ey 27

(1)
(3)

[

%G (2) AU
afag (4) TEaITaTey

[Question ID = 4142][Question Description = Q26_GP_21NOV_S51_SHAAN]
1. 1 [Option ID = 16031]
2. 2 [Option ID = 16032]
3. 3 [Option ID = 16033]
4, 4 [Option ID = 16034]

22} With reference to pramana theory both on dialogical and philosophical discourse. which of

the following options are correct?

(&)

(B)
€

D

It furmishes the required grounding for the thesis to be backed up by a certain means

of knowledge.

It provides the necessary platform to incisely analyse the proposed thesis.
It enables us to succinitly summarise the observations. that stem out of analysis, In

the form of anumana or nyava prayvoga.

It enables the debater to elicit acceptance of his/her own belief system on the basis of

formal validity alone.

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

(A) and (B) only
(A) and (C) only
(A), (B) and (C) only
(A). (B) and (D) only

Hafa iR it gFT Wit ¥ defaa wamr frgia = dee o Fafafiaa o o -3 ferer w8 27

(A) =g Afiuron g efiE enaR Jem W @ frht wfaua 1 % anem @ aiftfe e 2

(B) 7% TR STHUTRON H TS ¥ farawer W 3 SEvEE 59 U w1 2

(©) @z Ryetum @ Wia sTeeis o SGHI SO AT S % w9 § anshed e 3§ w2

(D) =% Jzaal # SR suaier daar % SER W o7 T A Rvaw wonel # e w A
a3 w2

it fau a fompeal A @ o) S W = it

(1) A (A) 3K (B)

(2) =& (A) AR (C)

(3  Faw (A), (B) 3 (C)

(4) = (A). (B) ST (D)

[Question ID = 4143][Question Description = Q27_GP_21NOV_S1_SHAAN]
| 1. 1 [Option ID = 16035]

prepp
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| 2. 2 [Option ID = 16036]
3. 3 [Option ID = 16037]
4. 4 [Option ID = 16038]

£3) Given below are two statements :

Statement I : The works in Nyaya-Sastra discuss the aggregate causal conditions and

the process involved in inferential cognition.

Statement IT : The works in Nyﬁya-éﬁstra do not however dwell upon analysis of the

factors that help to assess and decide the formal validity of a judgement.

In the light of the above statements, Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.
(2) Both Statement I and Statement II are incorrect.
(3) Statement I 1s correct but Statement I 1s incorrect.
(4) Statement I 1s incorrect but Statement II is correct.
= g1 wy g e 2
woF (D) YT % U9 GEiRE SRRl feafaE qw sgAmet s A T e ==t
= Bl
w1 (1D E-TFE % TY i 39w & faveme ® feRk 7 w2 9 fols f ofiuentos

e 1 3T FA R vt A § wEr w2

IUH FI F A °, A B e faweni § O wed svas I T fife

(1)
(2)
(3)
(4)

Fe (1) 37T (II) 21 Tt 2
+o () 3fit (1) <F e 2
F9= (1) @5 2, «ifsT = (1) 7ieid &

F9 () 7T 3, A w2 1) T2 2

[Question ID = 4144][Question Description = Q28_GP_21NOV_51_SHAAN]
1. 1 [Optien ID = 16039]
2. 2 [Optien ID = 16040]
3. 3 [Option ID = 16041]
4. 4 [Option ID = 16042]

24)

“Famous Singer Himanshu says that Coffechill chocolates are groovy. We can only conclude
that Coffeehill chocolates are groovy indeed”.

Which of the fallacy 1s commited in the above statement?

(1) Hasty Generalisation (2) Appeal to unqualified authority
(3 Slippery slope (4) Missing the point
“afirg Tk Ty wad 8 R FifERe diece @it Bid 21 37 A gz fesd fFemer awd 2 B wififee
ke arad ¥ S g 217
swae A § Frefifiaa § @ - ahey ufa gon 37
(1)  edisl o g 2) R-femmg witeerl (=afw) =+ afa smE

(3)

el = (4) TEEG T FHA
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[Question ID = 4145][Question Description = Q29_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 16043]
2. 2 [Option ID = 16044]
3. 3 [Option ID = 16045]
4. 4 [Option ID = 16046)

23) The set of attributes shared by all and only those objects to which a general term refers, is
called :

(A)  The intension of that term
(B) Connotation of that term
(C) The extension of that term
(D)  Denotation of that term

Choose the correct answer from the options given below :

(1} (A) and (B) only

(2)  (C)and (D) only
(3 (A) and (C) only
(4) (A) and (D) only

WY Tl Wy W ka9 39 9t aege A oreftum B S v @ ug g S| fee e 2,
FEE € -

(&) 3992 = e
(B) 3@ 92 Hl wranelaman
(C) I8 | H =R
(D) 39 92 = ataadsd

= fow ¢ et ¥ & Gl ww w1 wEA FifSu

1)  FaE (A) 3R (B)
() == (C) 3R (D)
(3)  F (A) ¥R (C)
@  FEE (A) 3R D)

[Question ID = 4146][Question Description = Q30_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16047]
2. 2 [Option ID = 16048]
3. 3 [Option ID = 16049]
4. 4 [Option ID = 16050]

26)  with regard to computer memory, which of the following statements are TRUE?

(A) Secondary storage 1s slower, cheaper. and less volatile than primary storage.

(B) Tape drives are direct access devices.

(C) The contents of most forms of RAM are volatile, thus making them unsuitable for long

term data storage.
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (B) and (C) only

(3) (A) and (C) only
4 (A (B)and (O)

Frger Aat % gey ° feafafga & @ F9-9 w0 g 27

(A)  wposh =i Al w@Re i gem °§ fm, gear 9 B AER 2 2
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(B) o greaw dith wgm I v (feamem) 3
(©) I (RAM) % waifues ¥l % ez ABA (dickersd) B 8| 30 W § 3% Jaafa Sa wis *
o1 319E s 2|

=t fow T fredl © © @E) 3T F E FIeT ¢

(1) =& (A) 3R (B)
(2) Faa (B) 3 (C)
3  FE Q) IR (©)

4@ Q). @) ()

[Question ID = 4147][Question Description = Q31_GP_21NOV_S51_SHAAN]
. 1 [Option ID = 16051]
2 [Option ID = 16052]
3 [Option ID = 16053]
4 [Option ID = 16054]

bl D

24) With respect to computers, what 1s the main advantage of a Graphical User Interface (GUI)
compared with a Command Line Interface (CLI)?
(1) Provides higher level of security and requires less memory
(2 Easier to use for non-experts
(3) Performs complex tasks faster and requires less memory

(4) Requires less processing power

FEORL = Hed W, TiE Wig ke (Wi e ang) hi ga § wivhd IR R (S g E) W o
SR

(1) 392 T i guan qeen el 2 Al g6 60w i e vt @
@  R-faeus % wEm 2y e 3

(3)  ifeet =l o il W El B SIR 58 % AA i e it 8
(4)  TH T WERET T H TEE Bl 8

[Question ID = 4148][Question Description = Q32_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 16055]
2. 2 [Option ID = 16056]
3, 3 [Option ID = 16057]
4. 4 [Option ID = 16058)

28 : . i
) Identify the correct order of the following computer storage capacifies ranked from smallest

to largest capacity.

(A) 100 GBytes

(B) 10 000 000 000 Bytes
(C) 1 TBytes

(D) 100 000 MBytes

(E) 1 000 000 KBvtes

Choose the correct answer from the options given below :

1) (D), B). (E), A), (C)
(2) (E). (B). D), 4), ()
3 (B (E). (D). A).(C)
@ (. B). D). ). )

Freaforias Froget wite amast < gl F0 U T @itk amar % w8 #9 | veee it

(A 100 Tirm smse
(B) 10 000 000 000 &Ts2
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(C) 13 amEe

(D) 100 000 A a2

(E) 1 000 000 Tt w2

i fam o formedl § O WSt s w1 = i
1) D), B). E), A, (C)

(2) (E), (B). (D), A), (C)

(3)  (B). (E). (D), (A). (C)

(4) (E). (B). (D), (C). (&)

[Question ID = 4149][Question Description = Q33_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 1605%]
2. 2 [Option ID = 16060]
3. 3 [Option ID = 16061]
4. 4 [Option ID = 16062)

29) @Given below are two statements :

below :
(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I 18 true but Statement II 1s false.
(4) Statement I 18 false but Statement I1 1s true.
R FE .
=y () : a9 ST U HIFeT £ S o Ul bl &R T Hidl ¢ 3R SR = 2
w24 (1D U S99 U TR YR SRl Seige € S AR B ST 9 9igel § d99 US W R o

Statement I :

Statement 11 :

In the light of the above statements, Choose the correct answer from the options given

web pages from other web-sites.

Hag il 2

Ih FUA oA °, J19 28 v fereat § @ w8 s % == fife

Y
)
3

(4)

FoF (1) SR () 31 A &
A (1) 3 (1) S9! 94T &
w9 (1) Ued 2, <A = (1) 319c 2

FUT (1) 10 2, S w97 () 7 2

[Question ID = 4150][Question Description = Q34_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 16063]
2. 2 [Option ID = 16064]
3. 3 [Optien ID = 16065]
4. 4 [Option ID = 16066]

30) Match List I with List IT

ListI List IT

(Computer Components) (Description)

A web browser 1s a piece of software that retrieves and displays web pages.

A search engine is a special kind of website that helps people in finding
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(&)
(B)
(©)
D)

HDD
RAM
ROM
CRT

(). Visual Display Unit
(II} Volatile Memory
(I1I) External Memory

(IV) Non-Writable Memory

Choose the correct answer from the options given below :

(L)
(2)
(3)
(4)

(A)-AD. (B)-ALD. (O)-1V). (D)-1)
(A)-AID), (B)-1I). (C)-(D). (D)-(IV)
(A)-(QV), (B)-(ILD). (C)-II). (D)-(D
(A)-(1I), (B)~(II), (C)-AV), (D)D)

g1 F =y gh-1I =1 faem i
Tl
HELT T

(&)
B)

©
(D)

HDD

RAM

ROM

CRT

=t fau v forpeal § @ wgl Iwr = 9Eq Fifsw

(1)
(2)
(3)
(4)

(A)-(aD), (B)-(11I). (C)-(IV), (D)-(I)
(A)-aID, (B)-AD,. (O)-D). (D)-aV)
(A)-AV). (B)-ID). (C)-(ID. (D)-@)
(A)-(I1II), (B)-AI). (C)-(IV), (D)-(D)

@D

F-1I

e e gfe

(D) e 9qid
(IID) =2z A9
(IV) TH-TEdse a9

[Question ID = 4151][Question Description = Q35_GP_21NOV_51_SHAAN]
. 1 [Option ID = 16067]
. 2 [Option ID = 16068]
. 3 [Option ID = 16069]
. 4 [Option ID = 16070]

1
2
3
4

31)

How many missions are there under the Climate Action Plan of Govt, of India?

(1)
(3)

4

12

(2) 8

4) 17

A TR <t Seqary wr Aol & satd e e 27

(1)
(3)

4

12

2)
(4

8

17

[Question ID = 4152][Question Description = Q36_GP_21NOV_S1_SHAAN]
. 1 [Option ID = 16071]
. 2 [Option ID = 16072]
. 3 [Option ID = 16073]
. 4 [Option ID = 16074]

1
2
3
4

32) According to India Meterological Department, average sustained wind speed over 3 minutes

of a cyclonic storm., 1s in the range
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(1) 40 — B0 knm/hy
(2) 50 — 60 km/hr
(3) 63 — 88 km/hy

(4) 200 — 225 km/hr
A WAt foem % SR, frd) g qEE 3 e e sitwg Tor vem wfa 6 i gt 2 -

(1)  40-50F%. /4.
(2)  50—60 fF4. /9.
(3) 63-88fm./a.
(4)  200-— 225 %54 /4,

[Question ID = 4153][Question Description = Q37_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16075]
2. 2 [Option ID = 16076]
3. 3 [Option ID = 16077]
4. 4 [Option ID = 16078]

33) Given below are two statements :

Statement I : Wind farms are generally set up on exposed hilltops or coasts in remote
areas.
Statement IT:  Wind velocities are steady in these remote locations.

In the light of the above statements, Choose the most appropriate answer from the options

g1ven below :

(1) Both Statement I and Statement II are correct,

(2) Both Statement I and Statement II are incorrect.

(3) Statement I 1s correct but Statement II is incorrect.
(4) Statement I 1s incorrect but Statement II 1s correct.
e gf =y feu 7w §
94 (D) Y Hi W G A ¥ weiisA o ge ofid el ser wmg 9w wenfia g
B
o (1) T G TIAT W 9eH T Fad g 2

ITRE FH F A °, A 5T 76 faFeul § ¥ FaE STYE S B 99 T

(1) F @) R AD I TR E
(2  FE (D) oI 1) I T B
(3) = (D) w2, < waa (I0) Toid @

(4 e (1) TAq 8, AR e (1) w8 2
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[Question ID = 4154][Question Description = Q38_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 16079]
2. 2 [Option ID = 16080]
3, 3 [Option ID = 16081]
4, 4 [Option ID = 16082]

34)

Given below are two statements : One is labelled as Assertion A and the other 1s labeled as
Reason R.

Assertion (A):  Production of electricity from Renewable Energy sources 1s without
adverse environmental impacts.

Reason (R) : There 13 no net emission of carbon di-oxide into atmosphere from
exploitation of Renewable sources of energy.

In the light of the above statements, Choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
(3) (A) 1s true but (R) is false.

(4) (A) 1s false but (R) 1s true.

Hi= @ wom g 7w 2 : ©F aifiEpun (Assertion A) ¥ w9 # fufaa ® q guw 3w FRW (Reason R) %
E‘Iﬁ:

SATHH (A) : Tt e @ial | fga Sared S 3 SEw W@iRe W IR 99E T8 95 B
F (R): TR Sl Gl % aiET ¥ ATgAST A hEA SEATEEES F RS Ug () St

& ghar 21

ST BYA! % e o, AiY i T fGemeqt § ¥ A9 SUTE SR 1 =E AT

(1)
(2)
(3)
€

(A) 3 (R) 3F1 7 & 9 (R), (A) i @) oaren

(&) ¥R (R) 3 = £, o R), (A) F 7 =men 4 2
(A) Tex 2, fp (R) 19T 2

(A) 915ea 2, ST (R) 7ed 2

[Question ID = 4155][Question Description = Q39_GP_21NOV_51_SHAAN]

1
2
3.
4

35)

. 1 [Option ID = 16083]
. 2 [Option ID = 16084]
3 [Option ID = 16085]
. 4 [Option ID = 16086]

‘Wheezing’ 1s the most relevant Health Effect in case of the air pollutant

(1) Ozone (2) Carbon monoxide

(3) Nitrogen dioxide (4) Sulphur dioxide

o a1 ek % we H R weifts wira @R dedHt yueE 2 -

D
€)

il (2) A TSRS
AR SEATTIES (4) TP RIS

[Question ID = 4156][Question Description = Q40_GP_21NOV_51_SHAAN]

1.

1 [Option ID = 16087]

2. 2 [Option ID = 16088]
3. 3 [Option ID = 16089
4. 4 [Option ID = 16090]

24 Which of the following are essential for good governance of colleges and universities?

(A)  Academic autonomy
(B) Legal autonomy

fl".‘i F‘iﬂﬂﬂﬂ{ﬁ] antomnomsr
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-

(D)  Administrative autonomy

Choose the correct answer from the options given below :

(1) (A (), (D) only
(2) (@A), @).(C)only
(3) (B (0), (D) only
(4  (B).(C)only

et 7R fovafamemal & 3on wee 2g ity § @ =-3 smars 27
(A)  ITHIEMF @R

(B) A wonaaa

(C)  fosdtg wraaan

(D) I W@

i fau v formedt A O wE SR =R wEg il

(1)  ==Ed (A), (C). D)
2) = (A), (B). (€
3) % (B). (0. D)
4 === (B), (©)

[Question ID = 4157][Question Description = Q41_GP_21NOV_51_SHAAN]

P

1 [Option ID = 16091]
2 [Option ID = 16092]
3 [Option ID = 16093]
4 [Option ID = 16094]

37)  On which of the following date National Education Day i¢ celebrated each year?

(1) 28 Feb (2) 5 June
(3) 11 Nov (4) 1 Dec

T e Ram e o Frefafae o o frg [ty =t v s 27

) 28 FE 2 590

(8) 11 TR (4) 1 foorsr

[Question ID = 4158][Question Description = Q42_GP_21NOV_S51_SHAAN]

bl D —

1 [Option ID = 16095]
2 [Option ID = 16096]
3 [Option ID = 16097]
4 [Option 1D = 16098]

38) Match List I with List II. Match the features of education of various types.

List I List II

(A) Ancient Vedic Education () Equality was the foundation
student-teacher relationship

(B) Post Vedic Education (I)) Enrichment of Lknowledge
experience

(C) Brahmanic Education (III) Knowledge results in wiping out
falsehood

(D) Buddist system of Education (IV) Emphasis on character building and
self realisation

Choose the correct answer from the options given below :

L @-@. B-AV), (O)-d1D). O)-1I)
2y (A-AV). (B)-O. (C)-(ID. (D)-(IID)
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(3)
%)

(A)-ID. (B)-AD. (C)-@), M)-V)
(A4)-(ID). (B)-(ID). (C)-AV). (D)-d)

g=ft-1 = w11 = firem fifo) i geem =6 fram o s eht fwaret =1 fam fifs)

(A)
(B)
(C)

(D)

i fam

(1)
@)
(3
(4)

-1

wrf dfe e
T dfe=w faan
ELIE BRIt
sig e wonedt

e fFeal A W Ag 39T 1 W hife

(A)-(D). (B)-(IV), (C)-(1D), (D)-(1I)
(&)-AV). (B)-(). (C)-AD), (D)-(1D)
(A)-AID). (B)-ID. (O)-(D). (D)-(1V)
(A)-(11). (B)-(I1L), (C)-(IV), (D)-(I)

g1
() w9 To- 1T WY HT AR o
AD) T S U B "G T
(I11) =areafas s fieamea = famo

(IV) =fim fmio R omer-fafy w s= R
SR

[Question ID = 4159][Question Description = Q43_GP_21NOV_51_SHAAN]

oL B2

39)

(1)
(2)
(3)

(4)

. 1 [Option ID = 16099]
. 2 [Option ID = 16100]
. 3 [Option ID = 16101]
4 [Option 1D = 16102]

“Destiny of India is being shaped in her classrooms”, this is stated in

University Education Commission (1948)

Education Commission (1964)

National Education Policy (1986)

National Knowledge Commission (2005)

TRE = 9WE SEh AT 0 [iHa 2w 2 9 wye Fetaiae § 9 e e Ty ar?

(1)

)

(3

€)

fergarferanera faen s (1948)
fSrer s (1964)
g e il (1986)

T T STFF (2005)

[Question ID = 4160][Question Description = Q44_GP_21NOV_S1_SHAAN]
. 1 [Option ID = 16103]
. 2 [Option ID = 16104]
. 3 [Option ID = 16105]
. 4 [Option ID = 16106]

1
2
3
4

40) The new cwricular and pedagogical structure of School Education as proposed by

NE

ey

File A%

P-2020 1s
B+83+92+2

2y B+3+3+4

£ AN [ T T~ TR & N A 5 |
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g P Y L = L L T R

A § d1-2020 g7 = v el Riea 5o wgEsma i fefier w2 -

(1) 5+3+2+4+2 2y Bb+3+3+4
(3) 2+5+3+4 4 2+5+3+7

[Question ID = 4161][Question Description = Q45_GP_21NOV_51_SHAAN]
1. 1 [Optien ID = 16107]
2. 2 [Option ID = 16108]
3. 3 [Option ID = 16109]
4. 4 [Option ID = 16110]

Topic:- GP_Set3_C

prepp
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1) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
issue of how best to respond to student mishehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about eguality during
this period. Both of these traditions are primayily reactive rather than preventive systems of
classroom management. That 1s they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach 1s based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research nvolved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent misbehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,
classroom rules, consequences of misbehavior, response to 1nappropriate behaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the year. Those
teachers who were categorized as move effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective mmanagers established themselves

as instructional leaders during first 3 weeks of the school year,
TN ] AEOHEYEE T ot 0% a2 fau v wwe % v A -

20 i TATE % TOUGH W BT A B U&7 5 39 W W g o 5 e o geimen % afd S
it & o 3o sl & o wen yeu | AeaaEd o wEife SR faveraer suvml | awEE
H IEYTOT W AR @ T Y I WY, wUteE B9 F, Fa WEeE R A worelt 59 % s
wfafemadl yonfear €1 72 75 3 yonfemi gefeer i 9z oflea g9 % wew 94 sfow 9% W8 wWgH

oAl HE A FA 3| TNn, g o HOg WY | e Wt o fold Uh SR JURTH YT AT



www.prepp.in

I F FEH TW A W INAE B PR gEER B UF4 3@ WEl Rias wn alm e R ek
agrEa wA gl fes e i A §1 5w WY & wiae =T ¥ T % 2 oyl ot -
T AT TR % TSt w1 sraere i freuer s w e mitE e g s g Ferd
g o1 7 syl wa garaehl 9 e vt wen ey o i bg 39 smar 9T fRar s aewar 2 T
3 ZElaER % Wia Wit = T TR R % AT I w2 OB e ¥ 27 T
frerenl =1 U o AR - WS B Wl R T Yo i e diue vels e % R ¥ s
WA o AT st il 78 T hemeher-saaw, e fom, godasn & ufonm, sfte saagr # vid
wfafem, s % g A waga, Fd, o gmr goreht witva off| sk stemen, 15 fime % sl
T R H THPRA 3R e § wrtra, faEnide o gen f o ) v o 35 ue oen on o9k TR e
e o faenfHal 3 Siers = stene e ® [ o 9d = 39 g o il 157 rerEE e g o oIS
% Imm W et w2 wgt ° deii Bem e st wanh veeE o wuEl e 9 % T
s |, o frenl it sifees wowelt s waa % T d dofiga e o s wanen F why arfies et
HAW U T SR FHTH FH g ® we el 3@ smanga wiftrs meelt e @ wrm-ad %
oW 3 TETE o ST 61 anmft e % = o wenfi e

An effective teacher manager as per classroom management tradition

(1)
@
(3)
C))

Advocates adherence to rules
Focusses on changing or modifying inappropriate behavior
Incorporates interventions that stress communication skills

Incorporates classroom rules, consequences and routines to keep student actively
engaged

HA] TG T & FHR, THE Sreed veraes

(1) e 9t sH wA B e W g

(2) T SHuER H SEe YA U i B W a9 2497 3

(3) 37 TEaRl F Wifhe W & S e Hive 9 A &S 8

(4)  Taenfi=t =i ol w9 e yeq-we ¥ Tl s 2g e e, ool ot w2 = e

=%l 2

[Question ID = 4167][Question Description = Q46_GP_21NOV_51_SHAAN]

s
2
3
g

T e

2)

[Option ID = 16131]
[Option ID = 16132]
[Option ID = 16133]
[Option ID = 16134]

Read the passage carefully and answer the gquestions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
issue of how best to respond to student mishehaviour. The humanist and applhied behaviour
analysis approaches to classroom management shared the spotlight about eguality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That 1s they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach 1s based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent misbehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,

" - v 0 3
Ftﬂ (=dmu b el s nl 'I'l'l‘!ﬂﬂ‘- AT OOATITOT OO ﬂ# 'I'I"I:'I.l:‘.-h.ﬂl"l [=R+n Fal L] TS O PR O i'ﬂ G T-R Lt ARt N LE LI Y ."\.ﬂ]ﬂ: RTFIATERN
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consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the year. Those
teachers who were categorized as move effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as instructional leaders during first 3 weeks of the school year,
I ] AEOHEYEE 1 ot 30 a2 fau v wee % v A -

20 i TAwEl % TOUGH W BT A o q&F 5 39 o W g o 5 e o geimen % afa S
wfafen & wre) 3wl $ Zhow we e d waaEdl SR Trifie sraEr fvern sl § aEe
H @Y | IR fem | A FA weEe muthE B9 4, e yhed ft Faw et 29 % s
wfafermad yonfemn 21 72 % 3 yonfor gofeer i oz R 27 % we 94 wiow o Wig wWaH
oAl O T T FA 3| TNh, g o HOg WY | el Weus o fold Wh SR JURTH Y1 AT
T 2 S W EEuT AR SHEEA H1 uvE ufalEw % w9 1 98 afew A § s f Sm w21 93
I N TEL T A W INARA B PR goHEER A U g RN figs 7 gl e 2 edR
e #=A v e e wm AR 21 To i % R Tl ¥ orened *k 3RH ol o Ao
I 3T TR % TSt @1 sraere A frgetuer s = e mitE e e gw s g Ferd
oz w1 FF rfirs wardi wer gaaent o Fa gt s yeusl & fi g 39 emur o R o wRar 2 T
3 ZEEER F T e wR % 9 gEMen U % o o swm wn #) ww aeen ¥ 27 e
Trerent =Rl Ueh o % IR WOA 2 Wl FEE T v i O o e vl e % e § o
W o I st il 78 T hemeher-oaew, el fm, godaen & ufonm, agfte saasn + wid
wfafem, fsl % yeret A wada, Frodt, ot geewr goreh wfive of | sk stemen, 15 fige % s
T el H FERE iR e ¥ wEea, it f e f woen f 7 fSmw 95 o e on o B PR
& o frenfie 3 fierr 5 sremer we ® oA T ad S v g o i 1g e S Ty o s
% e W et w2 wgt § gefies Bem e st wenh veew o s el W 9 % T
wor |, For frenl 1 aifees wowelt e warae 6 T d dofiga e o st wanen F why arfies Rt
FAW U T iR FHH FE FE ® we g el 3@ T smanga it nawh W 3 vre-ad #
oW 3 JETED O ST =6 smft e % = o e e

A teacher who emphasises the immediate reinforcement of positive behavior and punishment

together 15 said to follow

(1) Classroom management tradition (2) Collaborative learning

(3) Applied Research Tradition (4) Humamnst tradition

e S TepTIeT AaER SR 38 IRl I U W wWiw @r) W W ae a1 8, W Wl § e 9w e

@ -
(1) & Jaed T (2) weAmTeE S
(3)  IIIH ATEEE WO (4) AFTAEE TR

[Question ID = 4168][Question Description = Q47_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16135]
2. 2 [Option ID = 16136]
3. 3 [Option ID = 16137
4. 4 [Option ID = 16138]

3) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20t Century. classroom discinline was focussed on the
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issue of how best to respond to student mishehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about eguality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That 1s they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach 1s based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research nvolved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent misbehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,
classroom rules, consequences of misbehavior, response to 1nappropriate behaviour,
consistency of teacher responses, monitoring., and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the year. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as instructional leaders during first 3 weeks of the school year,
TN # AEOHEYEE T ot 0% a2 fau o wee % v A -

20 i TATE % TOUSH W BT A R U&7 5 39 o W g o 5 G o gemen % afe S
wfafear & @) 3o sy & o wen yave | AEaaEd o i SR faveraer surl | auEE
H YR R AR & ) 3 A oI wutieE B 4, e YEed Rl TeneE womell 29 % s
wfafermad yonfean €1 72 % 3 wonfoa gofeer i oz o 27 % ve 74 wiow o Wig wWaH
Hedl O T FA| 3| TNn, e e HOgU WY | e Wt o fold Uh SR JURTH HoAT A
T 2 S e asuT AR SEEnEA #1 uvE ufalEw % v 7 98 afew e & = f Sm w21 93
IPM LN TEL T A W INARE B PR goaER U g RN figs 7 @l e 2 eiR
srtarFe #=A v foer e wm oA 21 To o % T Tl oreed ok 3RH el o A
I ZFT SRR % TSt @1 sraere A et e = e it e e gw s g Ferd
a7 o1 s wardl = garwehl R FE gt wer gawel o di YUY 39 smar 9T frar o awar 2 e
3 Zelagr % Tid TR w9 % I TR I O % R T 3 w1 3 U avrn ¥ 27 T
el =1 U M % AR -FS 2 Wl R T Yo i ek S el e % oan ¥ e
TR I AT 3T il 78 o hemeher-oaew, et fom, goiaen & ufonm, srftg saasn + uid
afafa, fsl % vt A wada, T, ot qwwr gorelh e of | sk stemen, 15 i % s
T e W FERE iR e ¥ e, it f oo f o i 7 fSma 95 o soen on a9 B PR
T o R 3 fiars 5 sreme wAT ® erm T ad = 3w g o i 1T e R Ty o s
% e TRt W 2 wgt o dofiga PR e sl ol weew s syl s o ¥ v
s |, o frenl 1 sfees wowelt e waae % w8 dofiga B o s wanen F why arfies Rt
FIT U T iR FTH FH wE § e o fEnefl 38 T smanga st gl T 3 vRa-ad 5
oW 3 TETEl o ST =R anft e % = o onfia fEm

According to classroom management theory on effective teacher
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(D
2)
(3)
4

Addresses issues in the classroom
Prevents the problem before occuring
Discusses the problem after i1t has occured

Tries to respond to the problem after its occurence

FoI vee g % S, wh g fre

(1) e # gagl 1 9 v g

(2)  GuE afda B9 ® TEd 3§ U B

(8)  IuEm % uféd 2 9 % IvE 59 W ==l AWl B

(4) TEEN % Tled 2 S % ITE 35F (oM W UATE B §

[Question ID = 4169][Question Description = Q48_GP_21NOV_51_SHAAN]

1
2
3.
4

.
o
3
o4

[Option ID = 16139]
[Option ID = 16140]
[Option ID = 16141]
[Option ID = 16142]

4) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20t Century. classroom discipline was focussed on the
issue of how best to respond to student mishehaviour. The humanist and applhied behaviour
analysis approaches to classroom management shared the spotlight about eguality during
this period. Both of these traditions are primayily reactive rather than preventive systems of
classroom management. That 1s they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach 1s based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent misbehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,
classroom rules, consequences of misbehavior, response to Inappropriate behaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the year. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as instructional leaders during first 3 weeks of the school year,
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3 ZEMEER % Wid WAt wE o T TR R % AT T I w9 2 U e ¥ 27 T
Trerent =Rl Ueh o % SR - WO 2 9l FEE T U i O o 0 vols e % e § o
TR o AT el i 78 o hameher-saawn, e fm, goiaen & ufonm, sfta saasn  uid
afafen, s % g A wagar, P, o gwmr goreht wive of| sk stemEn, 15 e % el
T Rl W FERE 3R e ¥ e, it f gen f o f 2 fSmm 95 @ s on o B PR
& o frenfit 3 fiers 5 sreme wA ® oA T ad S 3w g ° 3 15 e S Ty o s
% IR W et w2 wgt ° geiiea Bem e aften wan veeE o wuEl W] 99 % T
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A teacher 1s effective manager 1f srhe

(1) Tries to respond to misconduct
(2) Tries to find the reason for misconduct
(3) Punishes the student(s) for misconduct
{4) Prevents the misconduct
s e aarel weus a4t B & af2 9%
(1) =R & fa vfatwn = = wE g
(2)  THFER T TR U1 T Y I @ a
(8  gEer % fore faeneft (frenfSi) =t gfeq o 2
(4  THIER i Ul &

[Question ID = 4170][Question Description = Q49_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16143]

B0

Option 1D = 16144]

3. 3 [Option ID = 16145]
4. 4 [Option ID = 16146]

3) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20t Century. classroom discipline was focussed on the

issue of how best to respond to student mishehaviour. The humanist and apphed behaviour

analysis approaches to classroom management shared the spotlight about eguality during

this period. Both of these traditions are primarily reactive rather than preventive systems of

classroom management. That 1s they tend to provide solutions to misbehavior after it occurs,

not before. More recent research. however. has provided another approach to classroom

management that frames the question of classroom order and discipline not in terms of

reaction but prevention. This approach 1s based on classroom research that examined what
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effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent misbehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,
classroom rules, consequences of misbehavior, response to 1nappropriate behaviour,
consistency of teacher responses, monitoring. and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the year. Those
teachers who were categorized as move effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as instructional leaders during first 3 weeks of the school year,
T WEIEYEE 1 St I3ws aE B e W % I A

20 i TAwE % TOUSH W BT IR R UET 5 39 S W g o 5 e o geer % 9fa S
whafen & o) 3wl F Shon B e | wFaaEd SR wEifie sraEr fveran sl § e
H FEIROT W TR & TR A A W mulEE B9 4, wal WEeE Rl FanE el 29 F s
wfafemadl yonfear €1 72 75 3 yonfaai gelegr i vz ofea g9 % uew 74 wfow 9 WG wWAH
oAl O T T FAN 3| TNh, g e HOg WY H e WeuR o fold Wh SR JURTH AT AT
T 2 S e SEEuT AR SHEnEA #1 uyE ufalEw % v 7 9é afew Fare $ wv § Sw w2193
IPH N TEL T A W INARA B PR gEER A U tg RN figs 7 gl e 2 eiR
agrFe A v e o0l oA 21w e % waw s ¥ oron % i eyt ot f-
I 3T PR % TRt @1 sraErE A et s = e it e e gw wa w uge Ferd
oz o1 T arfers ot o geraeRl STt gl e wEweRl % <t 97 3w smar wT fRar o wwar 2 T
3 ZEMEER ¥ WG WatEn #E T TR I UF % AT T 39 w9 {) U e ¥ 27 T
frerenl =1 U o AR - FSE B Wl R T Yo i ik S geis e % oan ¥ e
TR o AT st il 78 T hameher-saawn, et fm, goiaen & ufomm, sftg aasn  wid
afafea, sl % v A wagar, Frod, ot qwewr gorel e of | sk stemen, 15 figE % e
T RNl W FERA 3R e ¥ wEera, it f gen f o f 7 fSmm 95 @ soen on o B PR
& o Rt 3 fierr 5 sreman sa ® oA ) ad 5 3w g o i 1ge sverE S g o s
% R W et w2 wgt § gefiwa Bem e st wenh veew o el e 9 % T
s |, o frenl i sifees Wl war waae % T d dofia e o 5 wanen F why arfies Rt
T T 3R Frh FR ween § e fra fenedl g T smerra it gl T 3 wpa-ad b
oW 3 W B S = areft fees % = A vt fEem

A teacher who focuses on feelings. psychological needs and emotions of the i1ndividual

learners is said to be following which tradition?

(1)
(3)

a7 fogm ot Brdt s1lmemal i geme, s SEl ofit BATE O 9 3a1 2, 39 FEl a6 98

Humanist Tradition (2) Applied Research Tradition

Classroom Management Tradition (4) Formal Discipline Tradition

Frefafigs wor =1 STwe W g -

() AFEgETE oy (2) STIUET ITHUE W
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[Question ID = 4171][Question Description = Q50_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16147]
2. 2 [Option ID = 16148]
3. 3 [Option ID = 16149]
4. 4 [Option ID = 16150]
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